Post of District Educational Officer (Group-I.C Services)
in School Education Department included in the
Tamil Nadu School Educational Service

1.  Before the Second battle of Panipat, in Delhi had assumed
the title of ‘Raja Vikramjit’. -
QramLmd ureflur. CurméE ey, QLeeaslude X GTED DG
‘TreRm SIS ey UL L Sens ghmis QasmarTimt
(A) Bairam Khan (B) Salim Khan
@UITLD &meo &EOLD &mer
(C)\/ﬁemu (D) Kiya Khan
Camap Fwr smer

(E) Answer not known

e Asflweldama

2. accepted Akbar’s Din-i-Ilahi
<isLfer Sar Qoraderw ghmé Qsmemmi
(A)/Birbal (B) Mansingh
Sirmed wrendl
(C) Todar Mal | (D) Tansen
Camiome STem6l Fe

(E) Answer not known
ellen GQsMwaldene

3. Iswar Chandra Gupta’s remarkable journal was the
training ground of many distinguished writers.
raveull EBElT GUsTeller @HUGL_ss68 LsENsms Lo Yapbub
erpgsrerisafler LWlpAssarons @) (HHSS.
(A) Nil Darpan (B) Amrita Bazarika
Bed siue 2ligT ursriger
(C)‘/gamvad Prabhakar (D) Kailasham

gbeurs Ayureair MEHOTELD

(E) Answer not known
eflenL GgMwellerane

3 GENERAL STUDIES 20.4.2023
[Turn over



4.  According to the view of B.C. Pal
Cultural Renaissance.

9.8, umeler  smSHerLig

was the Prophet of Indian

QpdHu  seorFFry  WwOILOTFS DT

SrsssMAwmeur.

(A)/Bankim Chandra
umiglbenbg rm

(C) Hem Chandra Banerjee
Gamid ghgly Lmeris)

(E) Answer not known
sllenL Qsflweiidana

(B) Aurobindo Ghose
2i7ellEECame

(D) Navin Chandra Sen
peder FhSly GlFem

5. “In a sense Akbar might be considered to be the Father of Indian
Nationalism. At that time when there was little nationality in the
country and religion was a dividing Factor. Akbar placed the ideal of a
Common Indian nationhood above the claims of separatist religion”.

Who said the above statement?

“‘Imibg UTTEsSTR, sumy @QbSlu Csilusdear spaswunss &ms GeuembLb.
S sTsdld Cseiupm @Gempeursed, WD Briel U erejuBhss b
g&Sunsayd @ Hhsg. Ssum sl Uflelmarcurshismears smeTbg, bs QLS
@idwu Czflwubd erary wearCarmgwirer GuUTE  LATLUTETLEWL  (PETaeSSTT

GTeTm ST Wim?

(A)'K]awaharlal Nehru
sauamremed Gm(m

(C) Mahatma Gandhi
DSTSLT STHS)

(E) Answer not known
ellen Qsfweildeana

GENERAL STUDIES 20.4.2023

(B) Motilal Nehru
Curdleored Crm

(D) Subash Chandra Bose
sumey gy Cumev .



Read the following passage and answer the question whose religious
view is expressed here :

“If I found myself entirely absorbed in the service of the community, the
reason behind it was my desire for self realisation. I have made the
religion of service my own, as I felt that God could be realized only
through service and service for me was the service of India. Because it
came to me without my seeking, because I had an aptitude for it”.
Sereupd usHleows Lgss, @dd WKL wsuiumiemes Qeuefliu@Gdng
CTETLIGNSE nMeLD.

pren  sups  Graeuwda  (pewurs FHUL G EHSTD EDGS SMIewTd &
2amigisstar erarg eflpuuGL. Csameuuder b WL EED sLeymar o @y
QWb ety prer 2 anibgsre, prar Csmes aarp LSSMS e Qgrbs
wawrsslGenern. erans@s Comey eramLg Qisu Cemes. gQararpred pre DS E
CaLmoGa <ig aramafll_b aupgss). sTraD Sighsrar 568 earaflLd @\mbss) .-

(A) Swami Vivekananda
seumdl ellGousranbsm

(C) Rabindranath Tagore
Quipopns srea

(E) Answer not known
eilen QgMwaeldena

@M Tahatma Gandhi

LOSTSOT STHS)

(D) Rajaram Mohan Roy
@rregmymid Gomser Fmil

Name the epic poem written by Padmagupta the court poet of Paramara

empire

ugwrrt  CGuprfler  orFeeus  Hed

Quwenys GHLAES.

(A)‘/ﬁava-sahasankah-Charita
BeU-FADEMHIG-FHlST

(C) Trikalingadhipati
dflsallmsdud

(E) Answer not known
e QgMweldena

@ usw @GusTellear srefws &6 en g ullcor

(B) Naisadhacharita
DBETSEFTHD

(D) Kalingattuparani
SehIGS g L1 Tanf]

GENERAL STUDIES 20.4.2023
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8. Who among the following published the first newspaper in English
Language in India?
emeuueursefley @Bbslwreled psd ymde Qeudssraner CeuetludlLeuf wim?

(A) Gangadhar Bhattacharya (B) Rabindranath Tagore

SBISTST LILLTESTUIT @QripSrETs Sremt
(C)&/Tames Augustus Hicky (D) Ram Mohan Roy
Gebey isevL6v ablss g GCorgser [l

(E) Answer not known
elen GAsflweidena

GENERAL STUDIES 20.4.2023 6



Assertion [A] : Paninian Sanskrit though simpler than vedic is still a

very complicated language.

SO [A] : urerllefluer swaE@sD, Coussms L Waayb eefewwns
QEHsTYIL <5 Blse|b daswrer Qwmbursb.
Reason [R] : Every beginner finds great difficulty in surmounting

Panini’s rules of euphonic combination (Sandhi) the
elaboration of tendencies present in the language even
in vedic times.

smpemd  [R] 1 @aQeunm Osn_ssssryr, uraflafdear Qs aisss Ceisms

(A)

(B)

©

D)

(&)

cilglsmer Cop@amearaudler Quemd ATwses GunQsrardenmnart.
[A] is true but [R] is false
[Al &l gpeme [R] seum

oth [A] and [R] are true; and [R] is the correct explanation of [A]
[A] wopw [R] edu @rar@w &l wopmn [R] ererug [A]l-@er eflwiman

efleT&sLOmELD
[A] is false; [R] is true
[A] seum; <yarmed [R] &l

Both [A] and [R] are true; but [R] is not the correct explanation
of [A]
[A] womb [R] du @ren@n &f; epamme [R] eranugl [A] -@ar sflwmar

OT&HH LDV

Answer not known
NenL_ QzRweldae
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10. Which of the following resulted due to the frequent famines in British

India?

Spsem Ul igweled WM iqey @BSuredd oqssHy LEHSD FhUlL g6 ellamerelns

[BL_[bSG| eTeseu ?

(A) Retarded Agricultural Growth
cleusmu eueri&sludled emameney erhLIL L g

(B)\/l\/_[ass migration of population from Famine stricken regions
UEHEESsTd urdssiul L uGdseaile @Qmbg weseT Gumberele GLLb
QuUuIrhSTTEET

(C) - Serious tensions between the Zamindars and the peasants
slagrisErs@n  eleusmis@ps@nd  GorCu  shewwurer  USHDD
gouLL gl 7 i : .

(D) Utter lack of agriculture surplus
eleusmu 2 uflle upPTSGOD THULL G|

(E) Answer not known
e Gsfluaicrena

GENERAL STUDIES 20.4.2023 8



11.

Read the following passage and answer to the question based on the
passage.

Passage 1

Mahatma Gandhi said, “I deplore the criminal indifference of parents
who keep their daughters utterly ignorant and illiterate and bring them
up only for the purpose of marrying them off to some young man of
means’”.

Select the best implied from the following regarding the afore-said
passage. ‘
&0 dsr@ssuuc et LsHow wrflgs <isangtiumLled GCslstiul Harer
Caemella@md@ eflenwar. .

ussl 1 -

&TELT &MHSl smplusteis “‘Se srsmam Q@aes@EsEs Smward Qsiig)
der@sEn  Crréssdhanas susdr wsdsmar  wWHNQID  idlura WHMILD
ugLiudleildvoars Hawulan maus@nd QubCorier Eppb &ribs Sl fAugdnsrs
cu(mBSSCmen”.

Cupser.  usHuladBHg 2 (Heurer SpssaTaeisee ApBES  LEDHAPSLOTET
v ewws Coib0sH&sse].

(A)V¥'Strong measures need to be taken by parents for the overall

progress of their daughters
gusar  wseaseflar  @UB Gorss eaiEdsEs GCsmeiwrar  &@ELD
BLealgsamssamert unCori erhés Couam(ib.

(B) The working condition of young men needs to be improved for
marrying women
Quarsmars Smpwamd Qsueispars Gmereisaller QewduT @ Mo
wperCardpriue. Ceuamr(Hib

(C) The working condition of young women needs to be improved for
marrying men | |
Qever@pismer Smward Gsleghsrst Queansaiar Qewour @ Haw
wperGarmpriu. Ceuar(hib

(D) The women facing dowry problem
Auansdt eursl seant Grsflmensamer sbdEd a6

(E) Answer not known
eflenL Gsflwellevene
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12.  Which of the following is incorrectly paired?
Gereupeuareuddled seupTs @Qeanssiiul(harer Qeaarsmens CsibOsHssab

(a)

(b)
©)

(d)

Kavalgar 1.  Police Officer
STEUDSIT Cumeilev ySlsmil
Talara 2.  Superintendent
ST sarg el LLmeTT

Begara 3. Watchman

Guamym STEUGTET

Senateova 4.  Village Accountant
CeanGL_Guimeur Srrng sasHsTert

AWb) and (o)

(B)
(©)
D)

(E)

(b) wpmw (¢) .
(a) and (d)
(a) wpmb (d)
(a) and (b)
(a) wpgio (b)
(b) and (d)
(b) Lo (d)

Answer not known
ellenL Ggflweildeane
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13.

Choose the right matches among the following :
S GHUELLaupidled sflwrer Qurmssrsars Caiey Qs :

(1) The Forty -

The Chalisa

BAE N T gl
(2) Razia Begum - Ruknuddin
@rflur Cusid GELEL
(3) Diwan-i-ariz — Finance Minister
Sloumar & pMev B8l ienw&at
(4) Balban - Barids
LITED LI 63T umflC_ev
(A) (4) and (3) are correct
. (4) wpmid (3) &
(B) (2), (3) and (4) are correct
(2), (3) wppid (4) &
(C) (1) and (3) are correct
(1) whHmid (3) &
(D)\%, (2) and (4) are correct
(1), (2) wopud (4) &
(E) Answer not known
edlen Qgflweldeme
11 GENERAL STUDIES 20.4.2023
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14.  Match the following :

Qurmsss :
Historians Books
cugTHOIE flwrger USSSMBISET

(a) Alberuni 1. Qiran-Us-Sa’Dain
3D 6lueme &lyer-2_ciy- 56l gull e

(b) Minhaj Siraj 2. Tarikh-I-Firoshahi
Wleaey &lmey srilé-@)-CGuCrrevsrd)

(¢) Amir Khusrau 3. Tabagat-I-Nasiri
SBIT (&6l SUTES-@)-BrS

(d) Barani : 4. Tarikh-I-Hind
Ligewfl . - g;rnﬂé;—@—@]‘r_sg-
(@ b (© @

A 4 2 3 1

B 1 2 3 4

(Ccy 2 4 3 1

ovf 3 1 2

(E) Answer not known

e Gsflweldrenav

15. The Maitraka clan established a kingdom in Gujarat with its capital at

, which soon became a seat of a learning and culture.

MLSTST GOD GRITEHD R ATDE AT FOOBETTEH ——— Qe
Bloiellwg, <ig ereled shmed LHNID sOTFETTSS6r @)L Lons wrHuig)
(A) Malava (BMValabhi
LOTETGU T cueeLdl
(C) Gauda (D) Kamarupa
QaerLm STLOEMHLIT
(E) Answer not known

evL Gsflwalerene

GENERAL STUDIES 20.4.2023 12



16

17

Which is the florist region of India which has the specles of Camamus
vininalies and Camamus?

smomoay  eflaflarmeen wHmbL Cswwew Garhsmars  QsmearL Qbgwrefer
uss@LLU UGS @ 2

(A) Ganga Plain (B)\éeccan Region
shansE Fblaeuarf sésran (95Csei)

(C) Malabar Region (D) Andaman-Nicobar Region
weurt WrCse Sipgrer-plsCasrui 197Cseb

(E) Answer not known
‘ eflen QgMweleana

Sir-Herbert Risley classified Indian races into : types.

&t Qanruir Mevell, @Bw Qartiseamer auemsseTTsl Mg emer.
@A) 5 (B)/7

©) 3 D) 4

(E) Answer not known
eflent QzMwelleana
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18. Which of the following statements are true about India from the
following information which one is correct?

Qar@ssiiulHetetaunler sflwrar ufamas CsiblsOssab GBdwrmeuls LHHIL
Yereu(mid saphmiseiich erency FhluTaTane. ?

(1) The World’s second most populous country.
2 edlen Qe _reugl WESLCsTens QsmeTL. BrL_m@Lw.
(i1)) The fifth largest country in area.
uglineredled gpsreug Guflu BrimE.
(1) In 2011, population density of 382 persons per sq.km.
| 2011epd <peimged, wEsLOsTas _isH o smy G BU L (&

382 Cuit @ Lb. _ )
(A) (@) only (B)' (1) and (i11) only
(1) @b (1) wHmib (111) wI b
(C) (1) and (i1) only (D) (11) and (ii1) only
(1) wHmb (1) v EHL (11) whHmib (111) wi Hb

(E) Answer not known
eflen QgMweldana

19. The term used for the event, which causes death and injuries due to
sudden rush of crowd is
sal Lgdlen dllel DeusrssTed WHawd WHNID STWEGMEr FHUBSSHD HlenpeysEL
LweTUSSLUBILD GFme

(A)‘/Stampede (B) Procession
Wiyer SpCermi_L b Cuiyanf]

(C) Riot (D) Natural disaster
&EGUITLD Qupens Gurleyser

(E) Answer not known
edlen Qsfwsllerane

GENERAL STUDIES 20.4.2023 14



20. Find the mismatched linguistic group and language :
Crfl GueyLer seunral QuImBSSILL FeTer Qurfeows srars.
(1) The Indomuropean family - Arya
Qpswu-xCrmiGu GObub — e

(11) The Dravidian family — Dravida
Slrmell @G bub — dlgmeilLib
(111) Austric family — Kannada
‘ <6l fls @Hbub — SETETLLD
(iv) Sino-Tibetan family — Kirata

fCarm — HAugdu GHbubd — Hyrsm

(A) (1) and (ii) only (B) (i1) and (iii) only
(1) wHmp (1) wrEb (11) wHmib (1i1) wr @
(C)VTiii) only (D) (i), (ii) and (iv) only
-(111) b Eb 1), (i) womb (V) wr @

(E) Answer not known
eflen Qsfweldene

15 GENERAL STUDIES 20.4.2023
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21. Arrange the population density in descending order based on
2011 census.

2011, waser Qsrans seamsCas@uber SgliLemLld wesar AsTas <iLTsSsamw
@nrigE euflasulld auflasiuibhsss.

(1) Bihar
Semir

(2) West Bengal

Cuh@ eumkigTeTDd

(3) Kerala
Csryerm
(4) Uttar Pradesh
2 53lrulblrCsehd
@A) @), 1), ), 3 ’ B) ), (2), @), (3)
© @),Q),3), 4 Dy (1), (2), (3), (4)

(E) Answer not known
e Gsflwelerenaw

GENERAL STUDIES 20.4.2023 16



22. Which of the following statement/s is/are true of the Agriculture of

India?

&0 Qsr@ssuul Gerarareupmer @pdwreder ofleusmwuib Qariurer  sfwmer

FDMIGSHET GTEHGU ? ‘

(1) India is the world’s largest producer of tea, sugarcane and some oil
seeds.
2 agerelld @pswur Csuilme, s@mby wHmib aartan elmssd e hussudda
5L udlsdng).

(1) The sources of “Green Revolution” have made India self-sufficient in

food. |
usewbl yrldwWer epowrs @bdur, eame 2 pusdlad  saraflamey
CubmieTerg.
(A) (@) only (B) (i1) only
(1) wrED (i1) v @b
(C)ASoth () and (i1) (D) None of the above
@), (1) dwu Qrer@id Gupamdlueiphler ergeyb @oaa

(E) Answer not known
e Asiflweldene
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23. The main land of India extends between
@nduredler passw Hloliu@gd ——— @ Cu e BHSIeTerg).
(AV’5°4 North Latitude to 87°6 North latitude
68.7" East Longitude to 97°25" East longitude
8°4" auL @ i eCrans pae 37°6" el s L eCrans auaruigyd
68.78ps@ SissCrans s 97°25" HpseE SissCras euany LFellwjéTaTar
(B) 8°4’ North Latitude to 36°6’ North latitude
68°7 East Longitude to 97°25" East longitude
8°4'au&@ <L sCrens psd 36°6" cuLé@E il sCrens eueanry
68°7'dlps@ Siss Crans wpad 97°25" fpss, Siss Crans cuay
(C) 9°3 North Latitude to 37°5” North latitude
68°7" East Longitude to 97°25" East longitude

9°3" auL&@ < eCrans s 37°5 aulé@ L sCrans cuany
68°7" Slps@ Sisms Crans wpsd 97°25" HyseE Siss Crans euany

(D) 8°4' North Latitude to 37°6’ North latitude
68°7 East Longitude to 95°25 East longitude

8°4" auL&@ < sCrens wed 37°6" auLé@E i sCrens euampuigyd:
68°7" flpse Sisms Creans s 95°25" s, Siss Crans cuaruiab

(E) Answer not known
slewL @sflueierenaw

24. The Yanadi’ tribal people of India live in the state of India
‘wrey” ererenih @B LWEIGY GST&SEr eurd wrbleld
(A) Tamil Nadu (B) Karnataka
SBIDHTH STBTL&T
(C)y/"Andhra Pradesh (D) Kerala
2 BATIETCsaDd Cayerm

(E) Answer not known
eflenL Qzflwalerena
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25.

Match the following :
SpsaTLcuhenls QUTHESS.
Dams
BrsGsss0
(a) Obra Dam
eurr BrsCsseid
(b) Tawa Dam
sreur BisCsésid
(¢) Hirahud Dam
afyrandl isCsseid
(d) Kadakwasla

sL&sTED BiTsCsésh

@ ® (© @
A) 2 1 3
(B2 3 4
©) 1 2 4
D) 3 1 4

(E) Answer not known
e Qs flweleene

D QO

State

LDMIHl60 Ml & 6iT

1. Maharashtra
LOGMTT TGS g [T

2. UttarPradesh
2 5317 97Csen

3. Madya Pradesh
wsSw GArCseid

4. Orissa
efler

19 GENERAL STUDIES 20.4.2023
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26. According to the NITI Aayog, CWM1, 2018; 21 Indian Cities may face
Day Zero in coming years. Day zero refers to the day a place is Likely to
have
NITI Aayog, CWM1, 2018 Qe uy, eu@mhd parhseie 21 Qb BermsEeT
BIeT LUoelwsens TSl TsmeTers sa(ib BIeT. Lmedluib aarug ibs QLssler Qbs
BIEn6TSEDSE DG '

(A» No Drinking Water of its own
Qembsors G4bir @oans Hrer

(B) No water in the cities
BETBsaD Samantt @ders Hrer

(C) No water for industrial utility

Qg sensEnsE samantt @ders HreT
(D) No discharge from industries

Qsmfiheraasaid Qwmbg abs sWeyBmn GeuelCuprs prer
(E) Answer not known

e Csfluelerenaw

27. Match correctly the awards with the Corresponding Recipients ‘
Gemeu(md ellmans ibs dlmansts QubpeuGrr@d Cummsss.

(a) B.B.Lal (1) Bharat Ratna
9.9, eomed ' Umys géemm

(b) Nirpendra Misra | (11) Padma Vibhushan
Blrupgly Wevgm USLD 6lLemeT

(¢) Subbu Arumugam (111) Padma Bhusan
&L HDIPSD LIGHe! LG

(d) Pranab Mukherjee (1iv) Padma Shri
Ayerm (p&sired usw b

@ ® o @
A @) @) w @
(B%) @) @) @
© ©® @ @) @)
D) v @ @ @
(E) Answer not known
cdlenL Csflweierenay
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28.

29.

The first satellite to enter into the Sun’s atmosphere is
&M eueflwam_wsdbGer Bowhs wssd AsuhasGasmer

(A)  Solar Orbiter (B) Voyager-2
Camevmi <ML L aurGuigii—2

(C)\/Parker Solar Probe (D) Solar-C
unigst Gereorr LGHTL Gereomir -C

(E) Answer not known
edlen GzsMwellerene

Match the Column-I (Archaeological Sites) with their districts in
Column II

auflos I-o sramn Qsrddlued <pie) @Lismer aufleos -0 o drer <jeunblen
wrell L Bs@hL6r QuTHSgs.

Column —1I Column - II
aufleng — I auflens — 11

(a) Kodumanal 1.  Thoothukudi
Q& wesmTted SN5515Gg

(b) Porunthal 2. Villupuram
Qurpbso el Uiy rd

(¢) Tiruvakkarai 3. Erode
S(weussay rCrm()

(d) Adichanallur 4.  Dindigul
S EFBOQIT Slatr(H&se

@ m @© @
A 1 3 2
BWVS 4 2
© 3 4 1
M 1 2 4

(E) Answer not known
elen Qzflweldame

W DN =
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30. Who among the following is/are the beneficiaries of the ‘Education at
Home’ Scheme launched by the Government of Tamil Nadu?

EpsaTaETUDMIET SOPE ATETED &@@5uu®gg>uuu_|_ ‘Db Czus soall
S Lsdlen uwarTeflser wmeur?

(1) Students studying in Class XTI to XII
uglQermemm (PS5 LT FeTLTD GU@GLIL] GUEDT Lilg&H@HD DTERT6 T&6T
(11) Students studying in Class IX to X
QRETLG| (SO LUSSTL U@GUL U LIIG&H@EGLD LDTERTe &6t
(111) Students studying in Class I to VIII
Q6T (PSS TLLTD eU@GLY U] Lig&@Ld DTEreUT&aT
(iv) Students studying in Pre School

P UaTefludled Lilg&@Ld LomanTe fseT

(A) (1) only (B) (1) and (i11) only

(1) wr Eb (1) womibd (111) L Hb
(i) only (D) (iv) only

(111) wr @Ewb (iv) bl @b

(E) Answer not known
elen Qagflwalevana
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31.

Which among the following statements is not associated with Women in
Engineering, Science and Technology (WEST) initiative?

Qe smpmisseiies  “Qurdludued, eifleflud wHmL Asmbed B ULSHD
Quaser” (WEST) eremn wpupdyer Osrmloansg erg 2

(A)Ahe WEST initiative is launched by ministry of women and child

B)

(©)

(D)

(E)

development

WEST Quanmsdr  wppid  @pbmssdr  GLLUTLH — Si@wniesssmd
QarLmsiul L g

WEST initiative will provide training for women with Science and
Technology Backgrounds :

WEST wiflefwd wppnd Qsmlaopru Qeraranl GsrerL QuekTs E5& S
LWHE yafldEm . " )

WEST is launched to inspire girls and women to seek and remain
In engineering, science and technology related education and
career

Quamser  wHmid  CQuer  @Hwssdr QurBlulwed, eeludm WHMILD
Csmflomrun  GAariiurer sdefl wHpd  Csmdsaiian QarLibd(hés
sarg@eluugnars WEST Qsrimsiu g

Under WEST a digital consortium for discussion has been
established

WEST-er & sapgorurigsstar  @m gallld sl Labliy
2 (HeIT&ESLILL (HeTerg)

Answer not known

ellen Gz flweldene
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32. Assertion [A] : Under Export Promotion of India, interest equalisation
scheme was formulated .

gaH) [A] : @pbdurelenr ghmwHeowu 2a6Eelss iy FWETLHSSSH

SILLID 2 (heumdsUUL L g|.
Reason [R] : Exporters are getting, the benefits in the interest rates
being charged by the banks in their export credits.
gmyeod  [R] : gdmpwdssrar sLerseflear Bemear eul iy Qgmiurear petannsamar
Fhmwgwrerised GupiSlemart.
(A) [A]is true but [R] is false
[A] eretrugy efl spammed [R] ererug seum

(B) Both [A] and [R] are true;
[A] womib [R] @6?)‘)611.@0'656’!'@& grﬂu_nrra@
(C) [A]1s false but [R] is true
[A] ererug) seumy wpmd [R] erarug eflwrarg
(D)\/ﬁoth [A] and [R] are true and [R] is correct explanation
of [A]
[A] vogpb [R] Qe @rao@n sf womb [R] ererug [A] e efwimer
GTHSLD

(E) Answer not known
en Qsfwaeldane

33. Which Biopesticide has been proven to be very effective in controlling
locusts?
Qeul_(psdeflawws s @uuBhsgeuded Vlsayb uvweEasTs Blapbssliul (HeTer
2 197 Y&Hs0smeel erg?

(A) Vﬁetarhizium acridum (B) Bacillus Thuringiensis
Qur Lrengfwid &ML uréleev giflEpdlawerslen

(C) Trichoderma viride (D) Pseudomonas Fluorescens
ger&Car@ior aflfly &GLTGwrarmey HUGarmyaemen

(E) Answer not known
sllenL Qsflwelcrena
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34.

The next stage of growth for India’s fintech will come from
@pdureilar fl8s Qsmllom u euerisfluler GSsHl® ereamuded o 6remdu

GoL )| 6T
(A ncome, Investments, Insurance and Institutional Credit
QUBEUTL, (PFE®H, STUSH LHMLD HDWLILSTH HLETEH6T
(B) Income, Consumption and Trade
eU(HeUMl, HISTe| WHDHID euaishd
(C) Investment, Exports and Banking
580, ghmiwd wHHD eurduiued
(D) Credits, Repayments and Income ,
SLETGET, Sl(Hbus CFassise wHmID ymHem
(E) Answer not known

edlenL QgMwelldrene
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35. Assertion [A] : Govt. of India approved the National Policy for Farmers
(NPFs).
Fahm) [A] 1 elewsmls@rssrar Csdlu Qsmaramsse (NPF) @odu <irs
@UUSD laflggdeng).
Reason [R] : Many of the provisions of the NPFs are operationalized
through various schemes of the Central Government.
smpamd  [R] 1 eleusmiserssrar Csslwu Qsmeatansuler L gHuThSET WwHSW
Srélenr uDGeum S Lmiser ppebd GFwdudSsUbBSleTme.
(A) [A]is true but [R] is false
[A]
(B) [A] is false but [R] is true

ararug &fl emed [R] eremug seum

[A] ererug seum e [R] eremug e
(C)ABoth [A] and [R] are true; [R] is the correct explanation of [A]
[A] wpmid [R] @eweu @rarhib &fl. [R] ererug [A] Wer eflwrer ellarésid

(D) Both [A] and [R] are true; [R] 1s not a correct answer
of [A]
[A] womiw [R] Qeen @ras@nd ef. [R] erarug [A] Wer seuprer elarésid

(E) Answer not known
aflen Qsflwesldvena
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36.

Which among the following is/are correctly paired?
glwuns @eeamssliul (hererg ?

19 6761 (U ETEU D MIET 6T/ GTEnEU

L.

11.

III.

IV.

(A)

Mission Vatsalya
QUTSFOWT @WSEHLD
Mission Shakti
&5 @WEHD
Mission Poshan 2.0

Gurmerer 2.0 Qussd

Smile Scheme

Smile &L 1b

I and III only
I wpmd IIT e @

©WL, II1, and IV only
IL, IIT wogw IV v @n

(E)

Answer not known

dlen Qsfweildene

Comprehensive rehabilitation of

transgender persons
Smprimsseflen aflflcurar wmnieumpe]

Provision of citizen-centric life cycle
support to women

QuERTSEHE S Ggwfleno FTHS) QUMLDaY
OSSO STELRGULDIEIG 60

Addressing the challenges of malnutrition
in children and girls

Gub®sseT wHmid  Apdlseildr | oL FF5g)
GdDUTL I 60T Faumesaner Hleusd Ceigse
Comprehensive rehabilitation of persons
engaged in begging

&g rhé&@h puisaier ellfleurar wmeuTHay

(B) I, IT and IV only

L II vpmnd IV we o
(D) L, IIT and IV only

L III wpmid IV o @i
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37. Which one of the following is launched for a unified citizen-centric
lifecycle support for women and to unshackle women as they progress
through various stages of their life?

Gemeu(peuameudmieT erg Gueimser shsear eurpaliler LOGaum s Lhisefld wpearCeard
aumd Qumpg @@rdments urTLAUL WHOID UTHSTUML  GUPBIEGUSHETS

Blmieuliul Lg)?

(A) Mission Vatsalya (B)¥ Mission Shakti
QUTSFOWT @UISHD &8 QWSS

(C) Mission Saksham (D) Mission Poshan 2.0
F&FD QWSS Curmerar 2.0 Qussbd

(E) Answer not known
~aflenL @g,ﬁ]u@ﬁ]@@eu

GENERAL STUDIES 20.4.2023 28



38. ldentify among the following statements that is/are true about political
parties in modern democratic states?
peianr gaprus rssefear Spdud sl dsemer upHlu Geareumbd Smsg saia
Fflumest S(HSGHESMET DML WITETLD HTEHTS.

1.

(A)

Conservative parties believe in status-quo

LILPEPLOGUTSSE sL_Slger wrHpBlédem BeOL_(pennaafled BEms
Qarer(pereTe.

Political parties are classified as per India ideologies

Sifélued sl fser Sgsrbsnseieany eumsliL@ssuupSamar.

In India, Communist Party of India (CPI) and Communist Party of
India (Marxist) CPI(M) are examples of rightist parties.

@psureie @bslw sbwelev si8 (CPI) wppw @pdu sbwelevr s é
(wrirsflev) CPI(M) ey fwemes auwg smils s As@ns@ 2 STraRThiseT.
Radical parties are rightist conservatives parties are leftist and
liberal parties are centrist

gelly wrHpsMs culymissid sl AseT euagETILTSED, UN®LEITSS
sL8ser QLgemiunsa|d; smymateurss sl flsar pHHoos s dsarseb
SHSLILHS e

1 and 3 (B) 2and 4
1 womid 3 2 wpmid 4

(C”T and 2 (D) 3 and 4

(E)

1 opmin 2 3 wHmd 4
Answer not known
elen Asflweldeme
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39. Read the passage carefully and choose the correct option(s) from below :

This town 1s located on the left bank of Nambi river in Tirunelveli
district. An excavation was carried out to search for the roots of the Iron
Age culture along the Nambi river banks. It i1s a fertile archaeological
site and is known for its antiques.

Name the archaeological site.
Epssranid usHews sauators Lgss, slurar eleLowus CsimosHésaywb.

@bz oai  HwABHGaue)  wmeulLsHer BLE  Yodlar  @QLg  seruild
Simwpgererg. BHLE  YydHprsmTulen @Qmbusste sorssmrsslar  Geufseer
Cseughars e  Aspaumyrissd  CoplsteareriulLg Qg  ULPRISTD
QumrpLasErsd Guwr Qupp @ CQefuurer Gsmoddlwd @Lib @eueilsdler

Quuwrr

(N Thulukkaypatti (B) Keezhadi
SIVESHTUL Iy iy

(C) Vembakottai (D) Perambalur
Qeubus&Casm_enL QuybugyrT

(E) Answer not known
sllenL. Qsflweildane
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40.

Match the following :
Epsaramueuhean QUTHSES

(a)
(b)
()
(d)

(A)
(B)
(©
D

(E)

Silent Spring

F6TL el Mk

The mismeasure of man
&l BlevGwegir <yt Cuer
The Insect Societies

8l Qenblgs Qemanal iy 6v
The Cosmic Connection
& srevfls &0 aréaper

@ & ©© @
3 I
4 2 3 1
2 4 1 3
2

i 3 1

Answer not known
e Qgflueldeame

31

Edward O. Wilson
TLeum(h) 6. allevger
Carl Sagan

srirev Case
Stephen J. Gould
eoletier Glgy. Camedr
Rachel Carson
Creséd smirgem
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41. The Mahila Kisan Sashaktikaran Pariyojana (MKSP) was launched by
the Ministry of

Geuermeir waefli 68 Cuburh QuEpdirn (MKSP) eaeaums QewuduBssb

SIMIDEFFSLD

(A) Health and Family Welfare
SSTSTID LHMID GHHLU BSSHIMD

(B) Finance

Bdsgieom
(C) Industry
- Agmpleogienn
(D ural Development

sergs GbUTLHS D

(E) Answer not known
e Qzflwueideame

42. The Public — Private — Partnership in India is systematically meant for
investments in

Choose the corect options :
@pduredey, Gurgsgiemn wLOHML selurt gop i@ WsSHsT ThosHSS
gempsaile et aarums Gghey Cauis.

(A) high-priority public utility services
werayflenw Qupp Qurgit LweTuT HS gemDsarted

(B) increasing infrastructural facilities
2 GTELL LI eusSlaamer AdsMEs

(O Both (A) and (B)
Gl @HudrL (A) whmd (B) wi @b

(D) National Defence alone
Cosflu urgismiy Qeoallamismer S sMss

(E) Answer not known
slewL GQsflwalcrenaw
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43. “The Great Tragedy of Indian Partition” was written by
“@rdwls Wfellamaruier Cumb Carsbd” eremn Brene er(PSlweui

(A) R.K. Sharma (BY S.S. Sharma
<7.Cs. amwom GTGV.GTE. FTLDT

(C) V.D.Mahajan (D) S.N. Mehta
&Al.lg. &ETEEHT era.erem. CgsT

(E) Answer not known
elenL Gzsfwedldene

44. Match the following states with its National Highways (km) under
Bharathmala Scheme :
ECp Qsrhssuul@eter wrflorsmer <igar QB EGET@ws (£.15.) urgsorOr
S LsHerLig QUTBHSES :

States Bharatmala Scheme NH (km)
LmhleLd urrswreor St ssld CnH Ereraasar (&.15.)
(a) Nagaland 1. 193
BTSTEMHS)
(b) Mizoram 25 bl
WO G&myb
(c) Assam 30 4510
S|ELEVITLD
(d) Manipur 4. 607
6wt L1y T

@ (b (© (@
AT 2 3
B) 2 3 4
@nl 4 3
M 2 4 3

(E) Answer not known
eflen GQgflwueidana

= N O
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45. Match the following and choose the correct option :
Epsararucunan Qurmss wHmib sflurer el emw CsibdsHssab :

(a) Environment Protection 1. India REACH
FHNIELPD LTGSTIL @nvdwur REACH

(b) Insurance for Employees 2. FSSAI
Qsmflereris@pssnar ST FSSAI

(¢) Chemical Management and Safety 3. Umbrella Act
Caudluumper Geramento GeL gL D
LHDID UTGISTLILY

(d) Food Safety . 4. ESIC .
> @ureyll LTGI&TLIL ESIC

@ b @© @
@ e g
BVE 4 1
© 2 4 1
@ 2 3 4

(E) Answer not known
edlenL. Qzflweilaame

= W DN B
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46. Match the following and choose the correct option :
Enpssraueiperp Qurmsd wHmb sfurear ellaLmwus CoibOsHidEsewb :

(a) A non toxic glue 1. Chitin in crab shells
for plywood
R UvdsSSTET B&r(h (O\Fefled o aTer i iqe
BFGST@MWLWDHD LIGHE

(b) For long term Medical 2.  Glucose oxidase enzyme
monitoring and iron oxide nano particle
BT ST L[S &Ep&Camev 55CL6v Gprdl whmiLd
semsTanfl b @ @ mby Y smeh préam gseser

(c) High performing 3. Glucosel and citric acid

. lithium-ion batteries : ;
o wir Gewadpaien w &@psCamev LHMID HLfls b
OsFwd sjwefl Cui L flser '

(d) ‘Greener’ way to clean 4. Sugar cubes dipped in
waste water treatment poly dimethyl siloxane
filters
“‘wsew” sfley B &sSlafliy umedl enL_Gwgdled SemsCaafa
Qg &L g SMeT &55D CFlicushE BETESUILLL FT&HEEMIHS |

@ ® @ @
A 2 4 1
BYS 4 1
(C) 3 4 2
D) 4 5 7
(E) Answer not known
ellenL Gz flweildena

= = N W
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47.

48.-

49.

Inter Governmental Panel on climate change conference was held in
2021 at

umpeublevad wIHHL Gsrifurear LT () Sfrsseier @Gueler 2021 WIBTE
B GudDm @)L Lb

(A) Buenos Aires (B) New York
LSy @mey < Bl wimés

(C) Moracco (DYGlasgow
QuryrsGsm SlermevCaim

(E) Answer not known
eflen Qzflweildane

‘Jal Jeevan Mission’ was announced by the Prime Minister of India on

0o Beuar  Wawer Qe @bsu Grsw  wpHNulermed
<iMlellGaLiLL L g.
(A) 15t August 2017 (B) 15tk August 2018
15 &6 2017 15 y&6evl 2018
(CN/T5 August 2019 D) 15% August 2020
15 &6evL 2019 15 p&6vl. 2020

(E) Answer not known
e Gsfluelerenaw

“Every time my coaches who helped me to win a medal at the Olympics
have been removed from my training process and competition”. Name
the sports star who said this

“@abeurm wpepub, @alblls Curiyseid ugsssn Ceude geaeryfluyb earg
edleerwim (b L& wmerr/QpHlwimerT [5Gt uBCahH @ Ll Hél
Bl (papudambgd  wHmb  Curlgyselldl®migid Bssuu@Slapert”  Ths
cllemerwm_(h BLESSTD Qbss smbhenns gnleTi.

(A)¥ Lovlina ' (B) Marykom
euedlarm CuMGsmd

(C) Vijendra Singh (D) Dhanraj Pillai
NGBSy senyrey GeTener

(E) Answer not known
dlenL Csflwueierenaw
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50. In which City of Tamilnadu, a floating solar power plant with 25.3 MW
DC/22 MW AC capacity was inaugurated in March 2022?

sllpssslaerer aps parsdlad, 25.8 MW DC wppiw 22 MW AC dner Qsmam

6@ GMw Wearesd Blaowd Qsr msiul Lg?

(AW Thoothuludi (B) Chennai
| AL O F6brem Gt

(C) Ramanathapuram (D) Kanyakumari
QTTBTSLTLD - serertlwm@ Lo

(E) Answer not known
e Qs fluelerenen

51. The theory of use and disuse of organs was put forwaid by

“Lweturh whmid LweTu®SST e Py’ AsTaTansamu WperTQwmbgeui

(A) Darwin (B) Weismann
Lmired 6o Gleuy e CLoe

(C) Oparin (D)¥Lamarck
UGUMer QOIS

(E) Answer not known
ellen Gsflwueldeame

52. Forest Survey of India (FSI) was created with effect from
@idwu aiar ey (FSI) 2 peaunssiiu () poLwapuu@ssiiu g

(Aﬁne 1, 1981 (B) June 11, 1981
s79er 1, 1981 sg9er 11, 1981

(C) dJuly1, 1981 (D) July 11, 1981

‘ 9o 1, 1981 a9 11, 1981

(E) Answer not known
e QsMweldena
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disease.

53. Colour blindness is a
Blns@mL(h Crmi ererug
(A) Iron deficiency
Beoysss G@puUTh
(C) Vitamin deficiency
el L Lbler Genmum()

(E) Answer not known
edlen Gsflwueideana

54. Match the following :
Curpsgls :
(a) Anilinopyrimidines
< afledlCarmal yLolig era e

(b) 2,4D
2, 4D
(¢) Zinc Phosphide
Slrud umevenLIL
(d) Parathion

umymSSlwmesr

( b) (© (@)

(AV3 12
B) 3 |
) 2 1 s
D) 1 2.1 a0 A

(E) Answer not known
ellenL GQzflwalcrene

GENERAL STUDIES 20.4.2023
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Crmum@L.
(B) Air borne infection
sTHmies QgThn
(DVHereditary

urgbuflub TS

Herbicide

sears Q&maed
Rodenticide
etedls Qamebed
Fungicide
LEHanes Cameed

Insecticide
&S Qameved
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55.

56.

Heat transfer in a transparent solid is by

gafl 2arpimeyd FuCummlsefley GQeutiu LflbrHobd

@)

(i1)

Conduction
QeulILSSL$56 eLpevLd
Convection
QeuliLg FaTd epaLd

(111) Radiation

(A)

(©)

(E)

sdlieigs epeld
(1), (11) and (iii) (B) () and (i1) only
(1), (11) wHmyb (1i1) (1) womb (11) WL EIb
(iii) only - ~ (DYAD) and (iii) only
(111) b @b (1) wHmib (111) Wb

-Answer not known
cllen Gsflweldena

The method of building Nano materials by assembling atoms is called

Samisasamer gt Ceruuger epe préerm CQuUTHeneT 2 (HeuTE@GL (PEDHEL
Bl SMLPSSETLD

(A)
(©
(E)

Top down approach (Bygottom up approach
Cod &) samEwep SP®HS AHEGP@D
Cross down approach (D) Diagonal approach
GDIES A@IGSHP®D epee el Di@mEEpaD

Answer not known
ellen Gsflwaeldene
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57. Enclosed and essentially self sufficient (but not necessarily isolated)
experimental environment or ecosystem that is on a larger scale is
known as
epLULLL bHDID  SgluemLuld saalapey (amd salamwliubssluL
Cauamgw eusludldme) Cergamar @G Sdeg Cuilu oerele @ MmsEh
SHNFEGHPD DAMWLLIL TaT SAMPSSLILIHSDG

(A Mesocosm (B) Microcosm
{EEDES ) mw&CrTesrsd
(C) Macrocosm (D) Macrophyte
CusCrrsrsld CuasCrmenuil_

(E) Answer not known
edlen Gz flweildene
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58. Assertion [A] : Atelectasis means collapse of the alveoli.

smss (Al : agQosimalley  eratug  meyuiged  sTHHI  HETEU
GezenL_eugm@LD.
Reason [R] :  Total obstruction of the airway and lack of surfactant
in the fluid lining of the alveoli.
sryaurd [R] D eThmiiurens  pueuglb  GCeswberleugy  LHDID  STHY
Bigreuwer GCuhurliy Syeub GmDeugid pELb.
(A) Assertion [A] is wrong, Reason [R] is correct.
sms8l [A] saum, smyerd [R] o ‘
(B) Assertion [A] and Reason [R] are correct but Reason [R] does not
explain Assertion [A].
smssib [A] smpawepd [R] &M, wemd smemnd [R] smsos [A]
elleTg@FHeusTs Sanwwielicreane
(C) Assertion [A] and Reason [R] are wrong.

smSgD [A] VEEITUGUZYT(BDLD [R] seum

(D)msertion [A] and Reason [R] are correct, Reason [R] explains

(E)

Assertion [A].

smsgb [A] smyarepn [R] ef, smrewrnd [R] smaos [A] elarésdns.

Answer not known
eflen Qgflweldena
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59. The chief function of velamen tissue in plants
sreurhiseiey Caua@wer Saeiler padlw et
(A) Storage of food materials
o anreyls QumpLsener GallliLg
(B)Absorption of moisture from air
sTON(BHS FIUUSSMS 2 MiEHFeUS
(C) Synthesize of food materials
2 anreyll. QuUmBLasemer SwmiliiLg
(D) Conduction of food material
2 el QUNHLEMET SLGFIeUg!

(E) Answer not known
sllenL: Qzflweildeana

60. ‘Guttation’ takes place through
‘Brssfley @sen epad pan CunSns

(AW Hydathode ' (B) Lenticel
aanL_ Gz Qevatriy Clae

(C) Stomata (D) Cuticle
Genggiener Ay 1g Slar

(E) Answer not known
e Gsflwalerenaw

61. Which article of Indian constitution mention about the development of
scientific temper?
@idu Sirflueamwinder bzl Wflale oidlellwed warflaauler euerrdsl LHDIS

GO LuC (HeTerg). |

(A) Article 51 (B) Article 60 A
Gifley 51 19fey 60 A

(C)Aticle 51 A (h) (D) Article 61 A
Qfley 51 A (h) 9fley 61 A

(E) Answer not known
e Asflwalevena
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62. What are the characteristics of rote learning?
QUT(BET 2 eRTrmoEd SHHEET LIGTLSET WTeney ?
(1) Passive Process
Qeueby HD® LpeD
(11) Parasitic learning
QLU (Hewrent sHmed
(111) Active learning
Qeweled sHme
- (1v) Teacher-Centered
Ml Fribsg)

(A) (iv) and (i1) only ' (B) (1) and (11) only

(1v) wHmib (11) wHw (1) wHmbd (11) L Eb
(C)%;, (i1) and (iv) only (D) (111) and (1v) only

(1), (A1) wHmd (1v) L b (111) wHmb (1v) WL EL

(E) Answer not known
ellen Gz flueildena
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63.

Assertion [A] : In the case of a sphere floating in a liquid, a tilt one

way or other does not change the shape of the
displaced liquid and said to be in neutral equilibrium.

gapm [A] : draugdar Bz  Wsseh  Comasdmer  asHasudd

Smuleammab Sisarmed GeualCuppliu@Bib Sreugder eulgeuld
LIDTLEHSEGD Cwaib Sig BHBme swhlaauie @) msELb.

Reason [R] :  Meta centre (M) coincides with centre of gravity (G)

all the time and it continues to float in all positions.

sryewTid [R] : auGurgid Qe ewwbd M) muy  evud  (G)

(A)

Qeuclyam®b eedlen g ey QummbS QBLLSTOD eredevm
Blevaseflayd Qgriirbg WsHg CaTeamy héEh.

[A] is true but [R] is false
[A] &Ml <yemmed [R] seum

(B)\/Eoth [A] and [R] are true, and [R] is the correct explanation of [A]

©

D)

(E)

[A] womid [R] @resrb sf; wpmnd [R]  eapm [A]-& sflwmrer

GT&SLOM(G LD
[A] is false, [R] true
[A] seumy [R] &
Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] wpmb [R] @raw@n fl; e [R] sapmy [A] 6@ sflurer elerésd
EATAN)) ,
Answer not known
eflen Qzflweildene
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64. Water rises upto a height A in a capillary tube of a certain diameter. The
capillary tube is replaced by a similar capillary tube of half the diameter.
The water will rise to a height of

@ GOIUACL AL b QsrerL mar gaars Gwrle Brrarg A erern wLLLSSDE
B mpwild ghpwaL dpg. Qbs HETU®DE GLruTaTs HEpmm urdwarey
alllLb OsmeL memgmers Gurumd WwrHoiL@b Gurgl Bfler meamTyen
FHmGSlem L L Lb

A 4h B) 3h

(CV2 h D) 14

(E) Answer not known
e Qsiflweldene

65. The contraction of volume when ice melts can be attributed to
ucaﬂésssl_'_Lq_ 2 (h&WGLTE SISO LI(HLOGT (G®DEUSDHSTET &TFeRTLd
(A)\/Pélrtial collapse of tetrahedral structure

Lellésiguller Bratpdl Lgss sl Ly LGSWaTey &maasned
(B) Formation of Hydrogen bond

QDL TERET U@ERTLIL| 2 (heUTeUSTE
(C) Water starts to vapourise

B pellwinss Qamri@eusmed
(D) None of the above

Gleneu ¢gLleena

(E) Answer not known
eflen Qs flweldrene
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66. The largest ecosystem in the world is
Memeumeuameudmdled ergl 2 dlerm WslGUML @G eaRTL 6D ?

(A) Desert ecosystem (B)¥Ocean ecosystem
UTEQEIRTEF LG LOEHTL LD SLE) GO LOGHTL VLD

(C) Grassland ecosystem (D) Forest ecosystem
Heb@euefls @ e e e QUATE (FLPE) LDEHITL_GLD

(E) Answer not known
edlen Qsilweideana

67. Which of the following events occur during hibernation in animals?
Gallisre 2més Hloowle deorigsdr @ meEEGbaAuTg, SpésarelbmieT
arpflspeyseT paCumSEDng 2

(1) Oxygen consumption rate is reduced
<psallmer sty eldsh GmnssiuhSng

(11) Heart beat rate of animal is increased
emgseter @swussigiiy Sdasisdng

(111) The body temperature falls 1-2°C below the environmental
temperature

2 L& Qautiufleve spnEswd Qauiufoanawu el 1-2°C £CGp gapdng

(A) (1) and (i1) are correct (B)¥ (1) and (111) are correct
(1) wogb (1) sNwrarene @) wHmd (111) sNwrereney
(C) (i1) and (iiil) are correct (D) (111) only correct
(11) wHmd (111) sflwureremeu (111) L EGCW sfwurerg

(E) Answer not known
aflen QzsMweildeane
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68.

Match the following :

Epsaam_euhanls Qurmpss

(a) Carrageenin 1.
symedlafl e

(b) Diatomite 2.
Lwi GLmenol

(¢) Kelps 3.
Qs rien

(d) Alginic acid 4.

Sgdlafls lem

Insulation of boilers
Gerdlseansafien sriy Qummer
Dental impression

L6 UigLoth

Irish moss

sofleig Limé)

Brown Algae

LU urSl&er

@ ® © @

@ 3 4 1
® 4 1 3
© 2 1 3
OVs 1 4

(E) Answer not known
edlen Qgfweildene

DO &~ DN DO
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69. Arrange the following four steps based on Wallas Creativity Theory
cureey eraueulen ysssHmer Camiumiigemiilg. é'ig_oa;asrr@um BT6T(E  LilgSenaT

cuflensiL(DSSIs.
Il Incubation
o GTeueTi&s
2. Illumination

o _ar@lermafl Comemmiged

3. . Preparation
AWSSLD
4.  Verification
sflumTEse
(A)/B, i, 2. 4 (B) 3,21, 4
€ Z 3 1L 4 ) 2,1, 4.3

(E) Answer not known
clenL Qgflwalcrenay
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70.  Which of the following is incorrect?
EDPSFTEATUUDHMIET SeUDTET Sahml 6T ?
As rain drop descends towards earth
werpsgiefl yulew Crrédl eflipn Cung
(1) Upward air drag forces increases
CuaGpradu srhmn @eillassdr oidsfs@n
(2) It comes with zero acceleration
& WPOESSFILET Gu(HLD
(3) It comes with zero net force
Cwrss ellensuler wHUL FfluyLer eu(mLd
(4) It comes with zero terminal velocity
Qoo fawsCassdlan wduy &8l @b

(A)V (4) only (B) (1) and (2)
(4) LLEW (1) womio (2)

(C) (3) only (D) (3) and (4)
(3) LB (3) wHmib (4)

(E) Answer not known
edlen Gsflweidama
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71. Which of the following statement/s is/are true about the Council of
Ministers and the Cabinet?

Smwssisgar @ wompbd GCslear CQummsseuey &Cp CsTOssULL (HeTer
aursSwniseild ergl/eraneu Ffluimang) ?
(1) A Cabinet is the head of one or more departments
R Calar. amwssT Qe Sdog AS5HE Cupul L gampsaier sameaeui
(11) The Ministers meet jointly and frame the policies of the Government
DDWDEEFTEHET Tl Ls Cabg JFmmhisssler (sTaTanssameT 2 (HeuTsH @S nTiaeT
(111) Ministers of State and Deputy Ministers do not have a share in the
formation of Government policies '

STETRIGSSle CSTETaSEEMmET 2 (HeUTHGHS0 SMOMD (QTTDTEIE) IOSFEST
‘wHNID GrH(SImenT) AMEETEHEHESE, LkiE &g .

(A) (@) and (i1) only (B) (i11) only
(1) wHyb (1) wLEIb (111) wr_ @b

(C) (11) and (ii1) only (DW(1), (11) and (i11)
(11) wHmybd (111) wL Hb 1), (11) wHmw (111)

(E) Answer not known
e Gsflwelerenay
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72.

73.

Match the following :
SpsaT_aihanl QuThsSs

Match correctly the borrowings to Indian Constitution from other

countries :

Gpprosaiadnsg  Gbdlu

QuUTBSEIS '

(a) Parliamentary Democracy
UMTT(EHLETD PN D&SETTL Sl

(b) Fundamental Rights

gLt 2 fenger

(¢) Directive Principles of State Policy

27g Qpdlpenns Camiumpaer
(d) Federalism

Gl L&)

@ b © @
A 3 4 i
(B). 2 4 1
(C) 4 2 1
OWws 1 4
(E) Answer not known
clenL Qgflweildame

W w W o

“Desal Award” 1s associated with
“Caeris emg” yLer QsrLiiyewg
(AW Grants

LD o) Wi i S 6T
(C) Language

Qwmg

(E) Answer not known
clenL Qg flwelcrena

51

sirfueewllbneg  duplulLeuhem

FRlUTSL

1. USA
ENAINE:

2. UK
@rdorhg

3. Canada
SOTL_IT

4. Ireland
SWirembgl

(B) Autonomy

a8l

(D) Trade

UTSSHSHLD
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74. Which of the following statement/s is/are true in connection with
Fundamental Duties?
SglumL.  sLewwser  Csrifumer  Weateumld  smpmisefld ergl/erened
D _GHTENLDWITETEN 6L ?

(1) To promote harmony and the spirit of common brotherhood
amongst all the people of India transcending religious, linguistic
and regional or sectional diversities; to renounce practices
derogatory to the dignity of women
wg, Gwrf wompw Yrrsdu Sdog Wiley CaupurOsErsE LUTHULL
@pdwu  wssdr  WWSHWUD polessD,  CQurgeuter  FCsTHTSFHUSMS

- carg@elSse wHmD QuaTsefler saraiusms QUWe|LRSIHID LLPSSEISMET
56l (HBe.
(i) To develop the scientific temper, humanism and the spirit of
 1nquiry and reform ‘
<ifleflwed wariiumerew, walsGrwb, ederyamer LHND ETHHSs 2 ey
gSlwueihen euaTisgs CETaT(Erse

(111) Maintain just and honourable relations between nation
Brps@Epsse_Gu Blurwuwrer wHmib Qserreuwmear 2 pe|saers CLEmISED.

(A) () only (B) (i1) only
(1) b @b (11) wr @Hb

(C)/(i) and (i1) (D) @), 1) and (111)

(1) whpiw (i1) (1), (i1) wpmid (1i1)

(E) Answer not known

clenL Gsilweierena
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75.

What 1s the full form of CERC?
CERC @er alfleunssid ereman?

(A) Customer Education and Research Centre
| UM EMSWITETT &6l LHNLD < TTiEs @wwid
(BWonsumer Education and Research Centre
BI&TGeurT Hevall LHMmID < FriiEs PBLILD
(C) Consumer Education and Relief Centre
BIsTGeurt saedl wHmib Hleuryenr ewwLd
(D) Customer Education and Retail Centre

UMy SMSWTETT s6vedl LHmID Feewann ewwid

(E) Answer not known
dlen GsMueldeame
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76. Identify the wrongly matched :
Major scandals in India
saIpTer CUTBEgIBMme SamLs -
Qrdwureder pLps QU SATLP VG GT

Year Description
QU(RLLD eetésh

(L), 1994 — Telocom Seam
1994 Qsraney QgL eerype

(2) 1995 - Hawala Scam
19¢e5 QDGITEI 2eTLpeh

(3) 1996 — Fodder Scam
1996 geuar seripe

(4) 2001 — The Tehelka Scam
2001 Ogseam seripe

(A) (1) only
(1) bW

(C)  (3) only
(3) L@

(E) Answer not known

aSlenL Qg flweldene

THIS QUESTION AND ANSWER
ARE TO BE PLACED BEFORE THE
EXPERT COMMITTEE FOR

FINAL DECISION

@ & Caeall LnMmILD ellenL
) mIF) Y ellHETS
QUEVSVITBTT (G(LoeNletT (LneaT
EMEUSELILIL 2 GITATS.

(B) (2) only

(2) wr_Hb

(D) (4) only

(4) wrEwb

77.  The Supremacy of the Constitution is maintained by

2Argewller Guerann @ser paib urmofssiu@dng)

(A)V¥'Independent J udiciary
sspdlyonar fHsgmp
(C) Co-operative Federalism

gl (hpeleorer sl Ll &

Answer not known
aNenL_ Qg flweldane

(E)

GENERAL STUDIES 20.4.2023 54

(B) Parliament
BITLT(@HLOGTMHLD

(D) Procedure established by law

FLLLD ai@5gIs Carhss paL1pen



78.

79.

Though the country and the people may be divided into different states
for the convenience of administrative activities, the country is one
integral whole? — Who said this?

plieurss dewdur@seler eusdssrs prHb wEsEEL QeuciCou) LMl QO Al S 6T TS L
WflssLulLrQIb, BIE GTaTUS (PHELWTE RBESlmaThs QeTn erar Mg

WImIT 2

(A) Rajendra Prasad (B) Jawaharlal Nehru
@rrGendly Wyrers saianremed Cr(s

(CVBhimrao Ambedkar (D) Vallabhbhai Patel
Sibgres SbCUSSIT euceumi LG eb

(E) Answer not known
edlen QzsMwellerena

In India the real executive authority rests with
@pgwreiler o @rawwrer sHsrrnd wrib Qurdps sraTiU@S DS

(A) The President (B) The Prime Minister
G4 WT&ES SE6UIT Grsw wiS

(C)/‘T‘he Council of Minister (D) The Civil Servants
SIDEST (&P Glgmwll Liewtlwmerir

(E) Answer not known
allen QgMweldene
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80.

Match the followings (with respect to Directive Principle of State Policy) :
Epssameupanl QuUrBsss : (Sire auPlsTi(® Gpdlser)

(a) Socialistic principles
QumrgieyLaw QamaransaseT

(b) Gandhian principles
STHSWSE Csmaransser

(c) Liberal principles

SITETEUNS Qsrérensser

(d) New Directive principles

ydw euflsr (b Qpdleperms

QETETENSSET

@ b o @
avs 3 1
B) 3 4 2
C) 2 1 3
() 1 2 4

(E) Answer not known

e Qzflwalerena

¢ dB T bo

GENERAL STUDIES 20.4.2023
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56

Uniform Civil Code

QuTgl Glgmg FL LD

To protect and improve the
environment

&HNIFGPMme CobUBHESSISD WHMID
STUUTDHDISE)

Community development
programme

geps CuLUTLHS SLib

Equal pay for equal work for both
men and women '
<& HNID WwaaflTEE FGeumansE
FLo 2arglWb GULPMEIGS®



81.

Match the following Statement I and II :

utiqwe - I wpmin ulgwe - I sflursy Qurmsss

(a) Heart and Soul of 1. Article 24
constitution
<rflweenwlnder @suwib afldl 24
LHDID ETLOT

(b) Protection in respect 2. Article 23
of conviction for
offences
GDDBIGEHESTET S6HTLEHET - eflgl 23
QgmLffurer umgasLiL .

(¢) Prohibition on human 3. Article 20

- trafficking and forced .

labour
wafllss sLS5a16@E LHDID &4l 20
g EsaSEHE s \
fssriuL (hHeTerg)

(d) Prohibition of employment 4. Article 32
of children in factories etc.,
Asmihereraseie @whamsser olldl 32

QSTOTETISETTS SDTSSE Tl g

@ ® © @
a 1 2 3
B 3 4 1
() 2 i 4

OW2 3 2

(E) Answer not known
e Qsflweldene

= W N
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82. Pluralism is the keystone of Indian

LGT(P&SSSETENLD GTaLg) @BEHIL ———————— OODSET &b

(A)\A}ulture | (B) Democracy
SOTEFTTSS| 6T SOETHTULIGSS 6

(C) Religion | (D) Federation
D& EH 6t Sl Ll &ulleor

(E) Answer not known
ellen Gaflweildeane

83. Which of the following are correctly matched :
Speumeuareudmiar ereneu sflwmrs QummSSLILL (HETeTs)

(1) Habeas Corpus — Tocommand
< L_Qgmewri &L averudLed
BAUCUyTenanT
(2) Certiorary — To certify
Apdlaperp 2 pdgd  emanpefisa
BEuGuTTanamT
(3) Mandamus — To bring the body
QFwQmISE D
BAUCurTenamT R(Heuars Qsmea(h eUHS
(4) Prohibition — To prevent
BDLLNSSD 50350/ Hlnssed
BHUCurTenamT
(A) (1) and (4) are correct (B) (1) and (2) are correct
(1) wHmib (4) sNwrarene (1) wpmbd (2) sfwureareney
(C) (3) and (4) are correct (D)ﬁ) and (4) are correct
(3) wHmib (4) sNwraTEo (2) whmid (4) sAwureree

(E) Answer not known
clenL Qzflwalerena
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84. Who among the following called the ‘Preamble’ of the Indian
Constitution as ‘Identity Card of the Constitution’?

iy srflueemwllder waemyawu “Sigdlud steasder oL wimer el
eram Spsreriupueuiseied Wit sadluig) ?

(A) Jawaharlal Nehru (B) Sardar Patel
saeuaniemed G grgmit uGL e

(ON.A. Palkhivala (D) Subhas Chandra Bose
TG, 6. Lmevdleumevm sumev sHdly Gumen

(E) Answer not known
allenL Qgflwueldeame

85. Match the following :
Epsasrauciheapll QUTHESS
President Tenure
GG WSS SEna6U T U5l SmeLd
(a) Fakhruddin Ali Ahamed 1. 24.8.1969 — 24.08.1974
usmEE 24e0 250g)

(b) V.V. Giri 2. 25.7.1977 — 25.7.1982
o9.60. Hf

(¢c) Neelam Sanjeeva Reddy 3. 24.08.1974—11.2.1977
B g@gpéen Qg
(d) Zakir Hussain 4. 13.05.1967 — 3.05.1969

& 2 Caer

@ B (@© @
@ 1 2 3
B 4 3 2
5 1 9
© 1 3 4

(E) Answer not known
eflen Gsflwaldeme

DN &~ =
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86. “The Right of Citizenship cannot be taken away from a citizen except
through an express Parliamentary Legislation”. This is related to

“‘aoaurgs Gywyfaweawu prorepwans slLsdear apaCuowed Coup eumsule
uN&ss g’ . Q&éambn aTe@Lar Qgriiymwg ?
(A)\/ﬁ)rahim Wazir V State of Bombay Case -
Qurdld eudi V ubumi s enés
(B) Hukam Singh V State of Punjab Case
angasbd i V UEheT s alndE
(C) M.C. Mehta V Union of India Case
erd. 8. Cugsr V @idu earflub eupss
(D) Ramchandra V Union of India Case
grogsBrm V @b @erdlub eupsd

(E) Answer not known
clenL Gzflwalerane
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817.

-

Assertion [A] : Judicial activism is inherent in judicial review.

aapm [A] : B8 &g mul e SEQewdur By ergmied gy e
2 emEmamBS HLILGCS.

Reason [R] :  The scope of judicial review has extended beyond the

domain of rights to include executive policies and
legislative in action.

sryenrd [R] : bauyarmiuey Cpréssder upu@uedmewrars o few eayid

(&)

Gswosasdpen  CupQeam  mwssToetder  HiLs
Qs meaTanssamenuLb, gL OlwbHmid S| eusarf e
Glewelarananwiu|d Geaansgs Qsmam@ erars.

[A] is true but [R] is false
[A] 2 amanwo 3 e [R] seumy -

(B)\/goth A] and [R] are true, and [R] is the correct explanation of [A]

(©

D)

(E)

[A] wogis [R] @ran@Cuw efl; [R]  eremug [A]-epsmer gflwimer

GT&SLOMELD
[A] is false; [R] is true
[A] seumi; eparmmed [R] o arenio
Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
[A] wogio [R] @ram®@Cu &fl; e [R] ererug [A] epsrer sflwmen
TS G LOMGTG)

Answer not known
eflen GAzfMlwaidene
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88.

Match the following :
EpsaTeuhenn QUTHSSIs.
Doctrine
QameTens

(a) The Doctrine of i
colourable legislation
U &L bl FLLID
@upnib GCsriumr

(b) The Doctrine of 2.
Non-Obstante Clause
sanL_Wloors s Blwubmibd
Camrr_um(p)

(¢) The Doctrine of 3.
Harmonious Interpretation
Qanrssrer alerssss e
Cam_um@

(d) The Doctrine of pith and 4.
substance
Qlg.6ULD LHDID 2 EGTETL 555
Camrum()

@ ®m © @
A 1 2 S
B 4 3 2
(C) 3 2 1
OV2 1 2
(E) Answer not known
efllen Qg flwslideane

W &~ o

GENERAL STUDIES 20.4.2023 62

Nature/Tendency

senano/CUITE &

Supremacy of Parliament in
legislation

gL lwpHmieuSd LTTTEHLOETHSS 6

o Wihg Hlene

Competeting entries interpreted
liberally and need harmoniously
Curigeuens FLBlwbHned '
SMTTETISELD, @) aTSESLTSE D
atssriL(eug '
Determining the true character of
legislation

L LIWHDEd6 2 GETenDWITET (&TSMmSS
Siromefl g

Tendency towards centralization

ewulL@Ssme Crrsdls Cadab
Curs@



89.

Consider the following function of the process of the Parliament and
choose the correct answer :

urym@pwerpssar  Shssa.  uaflsmers  sBgs,  sflwter  AoLeows
CabOsbh&sew.

(1)
@)
(3)

" (4

Money Bill represents the will of the people

uenr LCeTsT &S MBLLSMS ITHBHsEMILESSHDS!

Delegated legislation is not subject to review of Parliament
euUelLYS FLLIb UTTM@HLOGTD WM <HU16&@E 2 L LILL & b

Power of Amending the provision of the constitution rests with the
Parliament

QApF@WLULE - FLL e pluysmets  Hmsshd Qb bsmrsesl
urFr@pweTnd Csmemiy (héSng _

The Parliament can assume legislative power exclusively referred
for the state subject

LTIT@BLETDL,  LIBloRsEEs@Iu L flupnd aTO@OSEGT  QMméEh
<siglamrsdlern Bg s Lbd Gupp (pigud

(A) (1) and (2) only

(1) wHmbd (2) @
(B) (2) and (3) only

(2) womn (3) LLEw
(C) (4) and (1) only

(4) ppid (1) L Ew
ONB) and (4) only

(3) wHmb (4) LLEL
(E) Answer not known

eflen Qgfweildene
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90. How long can the Rajya Sabha delay a Money Bill?

wrleokisamael Liewr wEFTSTMm6 cTeUaIETE| ST UMY SMOSLILIHISSMLD ?

(AW 14 days (B) 21 days
14 B ser 21 prser

(C) 31days (D) 10 days
31 B ser 10 priser

(E) Answer not known
clenL GAgflwalerenaw

91. The least Prime Number is
WBEflm LsT erai L.

(g) ®) 1
(CY" 2 D) 3
(E) Answer not known

eflenL Qzflweildame
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92. Find out the missing figure.
NPHuULL eueryuL g sar(H 9.

A : Q ?
@ A | (B)
(©) Q oY Q

(E) Answer not known
e QgMweldene

93. Various positions of a dice are given below. What will be the digit on the
face opposite to the face having digit 1?
@6 useoLwWa Ceaugulr flowsda £Cp Qsr@ésuul(eremear. orar 1 erai
LUEESSDE THTUSSD 6ThHS eTaT Uy Sn{Lb?

I II 111
A) 6 B) 5
(CW4 D) 3
(E) Answer not known
eflen QzfNwelidena
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94. The next number in the following sequences :
0, 6, 24, 60, 120, 210,?
Gemeumd Qgmieutlanguflen <ihds erei
0, 6, 24, 60, 120, 210,?
(A) 240 (B) 290
(CWV336 (D) 504

(E) Answer not known
eflen QgMwelldvaney

95. Find the sum of
1+3+5+...to 40 terms
Qsm_fer s(hse smeir
1+3+5+ ... 40 2 MULGEET GUan[
(A) 800 (B) 4000
(CW”1600 (D) 8000

(E) Answer not known
eflen Gz flwaldena

96. The next term of the Alpha numeric series
275, 7Y'7, 14X9, 23W11, 34V13, is
275, 7Y7, 14X9, 23W11, 34V13,
eretm craranT(sg Qsrifler BHSs 2 miiy
(A) 27024 (B) 45U15
(CW47U15 (D) 47V14

(E) Answer not known
eflen_ Gsflwaleane
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g

98.

99.

‘A’ can do a certain job in 12 days. ‘B’ is 60% more efficient than ‘A’.
How many days does ‘B’ alone take to do the same job?

‘A gn Camamwu 12 prised euourt. ‘B aeweair As 8L 60%
gpamwvwurare, aafler ©iGs Caumwmwu ‘B assmer prisefld wpyrum.

(A) 8days (B) 8% days
8 B s6r 8% Bl ser

(C) 7days (D%:/z days
T BL_s6r T2 BIL_&e6T

(E) Answer not known
elenL Qsfwelerene

If 48 men working 7 hours a day can do a work in 24 days, then in how
many days, if 28 men working 8 hours a day can complete the same
work?

48 ansdm @@ Caumeoeowu prlameanse 7 walCiin Caume Gsug)
24 prisefld (iUl aafldr 28 yamsdr Cs Caumeamw prleTTarnés 8 werl
Crrb Caume Geiigmd siecuCGaumumwu assamar Brlsgefled (piglium?

(A) 38 days (BY56 days
38 ‘r_F;I'I'I'_BSGiT 36 BTL&6T

(C) 35 days (D) 34 days
35 ‘n_sm'_asd'r 34 BTL&eT

(E) Answer not known
en Gzsflweldeame

If the radii of two spheres are in ratio 1:2, then ratio of their surface
areas will be

Quean® Gsmarasefler g ruseiar eldgn 1:2, eafler @eupder Lnuuriysaier
el &lgLb.

Q) 1:2 (Bm
(C) 1.8 D) 1:16
(E) Answer not known

aflen Qsfweldene
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100. A cubical tank can hold 64,000 litres of water. Find the length of the side
in metres.

R SaFFT euigel BisCsmiiqurerg 64,0006 Bif GsmatEphd e, bsS
Qariguier usssder Bersams L L M sramr.

A) 40m (B) 80 m
40 LS. 80 LS.

(©) 8m (V4 m
8 8. 4 8.

(E) Answer not known
edlen QsMweiidanay

101. The amount is to be repaid on a loan of £°12,000 for 1% years at 10% per
annum compounded half yearly is

2@ HEE 10% elfely oissdld  gdper @HES @G  GOD
SETEE L LILHID eTafled asl_arrrra;uQumm 312,0008&5 S@mbu GeqssiLpb Csrans
AWz 13,891.50 (B) % 12,888.50
(C) %13,210.50 (D) % 12,955.50
(E) Answer not known

elen Csfweieena

102. Find the compound interest that Rahul would receive if he invests
¥ 8,000 for 18 months at 10% p.a, the interest being compounded
half-yearly.

SOIUTaETyH@& @@ o alllg &mlpHb weapuld rmEed I8,000-5MS
18 WLISHRSEEEE, 10% parh el o6isbd CsTHrubd (Lpg;@ﬁ’@ Qg
UGS SL&@GWD Tl (B GULlly GTEUEIETEY ?
A) 1,061 (B) ¥ 1,160
(C) 1,260 (D%l,ZGl
- (E) Answer not known

elen Qgflwallerena
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103.

104.

105.

If a principal becomes % 17,000, with simple interest at the rate of 12%
per annum, In 3 years, then the principal is

R Asorarg, 12% sall el 6igsdd 3 yarhsalld 17,000 <& wIYdams)
Tafle), HFDDE STEs.

4) % 11,000 (B) = 11,500
©) 12,000 (DWY£ 12,500

(E) Answer not known
elen Asflwelerenen

Which rate of interest, yields an interest of ¥ 200 for the principal
amount of ¥ 2,000, in one year? .

aTHs Ul ly 6D, BFed T2,000-6E, RUTETHSES fzoolg_g safleuiqunss s 2
@ 10% (B) 20% /

(O 5% D) 15%

(E) Answer not known
ellenL QzMweldena

In how much time will the simple interest on ¥ 3,000 at the rate of
8% per annum be the same as simple interest on ¥ 4,000 at 12% per
annum for 4 years?

215 T4,000-6@, 4 - anOsaldr 12% ey Sesdd H@LbEb safa b,

245 T3,0006@, 8% aully 6igsdldr deLs@b safl aulqubd swors @@L
erafled, SIFET Y FTHSET cTeUUETEUTS @) (FE(ELD ?

(A) 6 years (B) 7 years

6 3, ar(hSeT 7 & (h&eT
(C)/Syears (D) 9 years

8 e (h &6 9 Y&t (h&eT

(E) Answer not known
aflen Qs flweldene
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16, The ratio which of the following is not an equivalent ratio of %

ECp odtar s elldsD % ety lssshE swowrar Ash OOTSHTS

@@é;@m?

@) % ®) %
\AO 6

V22 ® <

(E) Answer not known
edlen GQgflwueildame

107. Kumaran has ¥ 600 and wants to divide it between Vimala and Yazhini
in the ratio 2:3. Who will get more and how much?

@wraiL T 600 2 dmerg, gman cllwar whmibd wrdalse @earuwid 2:3 ererm
Nfssde Ldipselsdprt erafler Gmeufled wTEHEE LT SSswTEsE Sl &@b?
GTEUGUGTGY ?
(A) Vimala gets T 240 more than Yazhini

MwerelnE wrfafeow el T 240 s AL s@En
(B) Yazhini gets ¥ 240 more than Vimala

wrpleflseg eflarae el T 240 dlsbd Senl&@D
(C) Vimala gets ¥ 120 more than Yazhini

slwereinE wrdaflew el T 120 dsb faLsEh
(DWazhini gets ¥ 120 more than Vimala

- wnfeafseE eflwarme el T 120 Hflsbd Sl &@b

(E) Answer not known
adlenL Qzflwalerene
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108. The ratio of the volumes of two cones is 2 : 3. If the height of second cone

109.

1s double the height of the first cone then the ratio of their radii is

Q@ smwblar sar sereyseflan lflsn 2 1 3 arafler QreamLreug sbler 2wy
peorelg sabler 2 wrsmsuCurd @@ WLkE aale, Seupdler <y rrisaier
el &g G LD.

B) 2:3 | &5 3

(C). 3 22 D) 5: 3

(E) Answer not known
ellen Qg flweldene

Malarvizhi, Karthiga and Anjali are friends and natives of the same
village. They work at different places. Malarvizhi comes to her home
once in 5 days. Similarly, Karthiga and Anjali come to their homes once
In 6 days and 10 days respectively; Assuming that they met each other
on the 1st October, when will all the three meet again?

woreilfl, srigder wHmb <iEFN Pdw wamd @Cr Armosmss Ceibs
Comflsar. Qafsar GeocGeupy @Liseld Coume Gaudamparnt wereil
5 DBIL&Eh&EE @RMEpopyb, &risdst boHmbd iEpsd wapGu 6 wHmb
10 BIL&@EH&EG @R Popub, Sjeursh oIhs@ErsE bg OFdeul. jeuiser
gPeUBL, ASCLTUT LIFL WHH BIeT Qawres shSsSsTisdr aafe, WarEw
SHEUT&ET rlIGUITG) QRETDTEE FhEILILITTEET ?

(A)‘/31St of October (B) 30th of October
2&CLmur 31 Csd 21&GLTuir 30 Csdl

(C) 10th of October (D) 1st of November
24&CLmur 100 Csd Beubur 110 Csdl

(E) Answer not known
e Qzflualdane
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110. There are four Mobile Phones in a house. At 5 a.m., all the four Mobile

Phones will ring together. Thereafter, the first one rings every
15 minutes, the second one rings every 20 minutes, the third one rings
every 25 minutes and the fourth one rings every 30 minutes. At what
time, will all the four Mobile Phones ring together again?
@ eiligd prang AoCudlser o darar. smee 5.00  befld@, erdeom
SGUSls@EHh RaTHTs @alsEL. gamder Wso amaGuiurars qeaubleaimm
15 Hlllimsellab @rarireug eweoCuslurearg qeuCeurm 20 Bl fiseflgib
eperpmeug SmeCudlurearg eeubeurm 25 HIOLBsalQb WHND BrETETEg)
SmeGulurearg eeubeurm 30 Bl Bsetab @aﬂaa&]m@m crafler, ienau
e eriiCung @emmrs @als@Lb ?

(A) 7.00 a.m. | (B) 8.00 a.m.

C7.00 @p.uu. | . 8.00 @p.u.
(Cn”10.00 a.m. (D) 11.00 a.m.
10.00 @p.u. 11.00 @p.uu.

(E) Answer not known
ellen Qzflweldeame

111. A book seller has 220 Maths Books, 380 Tamil Books, 420 English
Books. He wants to sell the books in a box, subject-wise in equal
numbers. What will be the greatest number of boxes required?

@ HI edpueanumert 220 &eufls [IOSMETLD, 380 SWIP EIOSMETULLD,
420 Ymdle Brosmerub meusglerermi. elbleump Guliguiand LT eufleFurss
g crarentisamaudled epearn LML Frosmarybd eeuss alphs efl@hbydpmi. erefld,
SSlsulswns assamart Quiigser Caameuliupib ?

A) 10 (B

(C) 30 (D) 40

(E) Answer not known
clenL Ggflwalerena
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112

The L.C.M. of 78 and 39 is 78. Find their G.C.D.
78, 39 pSweupmler B&slmy Qurg wLmE 78 eafley BUGum CQurg cuEss

(A)/SQ (B) 48
(C) 59 D) 78

(E) Answer not known
edlerL Qzfwellerane

113. A man purchased a cycle for Rs. 600 and sold it for Rs. 480. Find the loss

114.

percent

el e Wdaaryomw . 600 &g eurad m. 480&E Ahpred ghu@L pesL
FSGIBD STEHTS.

(A>/20% (B) 120%
(C) 60% D) 80%

(E) Answer not known
eflen Qzflwellevaney

In a school, 820 are Boys and 60% are Girls. Find the number of Girls.

@@ uetefluder, 820 wrameursErd 60% wrawelsERd o drerant. erafle,
wrenTedsefen cramallémasamus &meTs.

A) 1225 (BY1230
(©) 1231 (D) 1235

(E) Answer not known
ellen Qgflwedldena
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115. A man has 532 flower pots. He wants to arrange them in rows such that
each row contains 21 flower pots. Find the number of completed rows
and how many flower pots are left over?

@@ puflbd 532 YbOsTiqseT 2 6rerer. el @JrﬂmEBE@ 21 YpOSTigE6T el
<BH&s Mmbleari. assamar cuflengsdr (e CQumb erarebd WHHID TESE6T
LBOST 1g56T BsOl(H&@GL eTareyd &meims.

A) 21,7 (BY 25, 7

(C) 26,5 (D) 19, 2

(E) Answer not known
| e Qzflualdame

116. The appeal from "the Federal Court of India established by the
Government of India Act, 1935 was taken by

1935 pflueenlys FULSsT® Bloeutul L siorld fdHoearnssd G

waplih ———————— THdHS QsmeTeriiLl L g).

(A) Viceroy of India (B) Secretary of State for India
@Bl eveucvFTLITED @BHu rEsSHmD QFwemeTyTed

(C) King of England (D)/ﬁfmivy Council

@ rifleorhg ATETTEO Cameny WweTnSsmed

(E) Answer not known
elen Asflweldana
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117. Consider the following statements :

EpssaTL sl unismers souaf.

In the words of Dr. B.R. Ambedkar, Directive Principles of State Policy

are the “Novel Feature” of the Indian Constitution because,

Dr. G.efr. <wGugsmi emdlusraug “eirs afsmy Csriur@sdr, @bsw

<igsewUfer 5L s SylLd amprEn’ glarernme,

I.  These principles are in the nature of general direction or guidance to
the state
Qe Brigen UISTL IgWITE HeDLobS) eTeTaT

II. They embody the principles or objectives and ideals which Union

and State Governments must bear in mind while formulating policy
and making laws.

SSW Tl ATESET S FLkIGmeTLD, Cardrassmarund @ubmib Gumrg
Qe 2 gallwrs @) (mHé@Lw

Which is the statements given above is/are correct.

Qaeundle erg)/eTeney gMlwmarene ?

(A) TIonly (B) II only
I @ II b @Ew
(CV Both I and II (D) Neither I nor II
I vomiw o I b oo II b Gdadama

(E) Answer not known
el QgMwelidene
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118.

119.

was the first Indian to go to jail for having discharged the

duty of a journalist.

@f usdfsmsureryrs uamilurpdlugsHaTs HonsE <SieuiulL

(PS5 @BSwrTeum.

(A)

©

(E)

Bal Gangadhar Tilak (B) W.C. Banerjee

LT SRSTS] Sesi W.C. urarnisd)

Lala Lajpat Rai (DVglrendranath Banerjee
QT LIS Tl &Crhslrmns umeanre)

Answer not known
ellenL Qzflwsideame

“At the stroke of midnight hour when the world sleeps, India will awake
to life and freedom...” said by

2 &0 2 prSstsrarymaEEn @Qbs berallre CrrsslGeo, QBT seraent wi
> WG LsCorhib O  &sBHT 2 eamrejLaud NsHsCsTETENg  erer

galueurr.

(A) Mahatma Gandhiji (B)¥ Jawaharlal Nehru
LETSLDT STHS) syeuanirerd Crm

(C) Bala Gangadhar Tilak (D) Subhash Chandra Bose
Ume) SREISTST ST sumes shSly Gumen

(E)

Answer not known
aflen @sflweildana
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120. Assertion [A]

sapmi [A]
Reason [R]

sryemwrgh [R] :

Muslim League celebrated the ‘day of deliverance’ on
22 December 1939.

WPevedd &5 22 ebuil 19396 ‘Bl Ly BrerTs’ Qe iy wig.

All the Congress Ministries in the provinces resigned
In protest of the Viceroy’s announcement on India
joining the Second World War without consulting the
Congress.

@pgureiler  aveucvrmi - @hdu  Csflw  smrdyenen
sopsTCordssmod @Qbdwurend Grar_reg o os Cumflod
Qavanbssts NelssSamed marsg rsTe SEdre
STETRGRIGHT ShgGeT erdliuler Oeuellliumrs oyerhis

QurmielBHg eHederi.

(A) ~ [A] is true but [R] is false

[A] &, eyemmed [R] seum
(B) Both [A] and [R] are false

[A] wppin [R] @rain@io seumy
(©) Vgoth [A] and [R] are true and [R] is the right explanation

[A] wpmo [R] @raimeibd &, Cogind [R] sflurer elersswnsb
(D) Both [A] and [R] are true, but [R] is not the right explanation

[A] wpmd [R] @rar@n sfl, epearmed [R] sflwrer eferésd <ide.

(E) Answer not known
eflenL Qs fweldene
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121. Where was Hindustan Republican Association reorganized into
Hindustan Socialist Republican Association?

@g@@ug)nm GYWrs SFBSD 6THEG QBSVSTET FLSTD FPs GLGTHE SBISTS
N FFeWwESILLL g ?

(A)‘/Delhl (B) Bombay
Slevadl LU

(C) Lahore (D) Bhopal
QOTGnIT \ Gumumed

(E) Answer not known
ellen Gsflweiideane

122, “Acharya Vinobha Bhave, was selected as a "first Sathyagrahi by
Mahatma Gandhi” after he completed the speech on

@ L Cupm sl Ll 2 myumhilu Ger srbdliigseT < &amium

MlGarmur urGeu SjeuTsamer “Wsd s5SHwNSFd” erar CoTbEsHSSTT.

(A) On 17t October 1939, when he was delivering speech in a village,
near Lucknow

1939-b e <«sCLmuir 17b Csdl wsCammelnE <imdd 2drar e
Srmosgle.

(B)\/ﬁn‘ 17t October 1940, when he was delivering speech in a village
near Wardha

1940-1v <anh <sCrmuir 17-b Csdl eumismellh@ <imsld 2 drer 6
&ymngsle.

(C) On 17t October 1941, when he was delivering speech in a village
near Gandhinagar

1941-b e <«sCmuir 17-b Csd srpdbsmsE <imSHd 2.dmer g
Srrogdla.

(D) On 17t September 1942, when he was delivering a speech in a
village, near Kolkatta

1942-b e Qeurwuir 17-b Csdl Qsmasssmellnh@ <imS® 2 6em 6 b
Symnsdled

(E) Answer not known
alenL Qzflwelerena
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123.

124.

AP,

Defence Minister of Interim Government of India in 1946,

&.9. 1946-0 Ya&r(h S@LWLCAUDD GeLssTe @b rder uTgSTIY

DIDDEFTNS @) (HHS6UT

(A) Sardhar Vallabhbhai Patel
grgmiT eudeuml UG
(C) Gopala Krishna Gokhale

Camure &meyenr CorsGen

Answer not known
eflen Qzsfwellcvena

(E)

(B)‘ﬁldev Singh
uoGxeu Sl
(D) Bala Gangadhara Thilak

UTQSBISTST Slesi

As a lawyer Mohandas Karam Chand Gandhi, got his-first fees of Rs. 30,

but he refunded that to his client in

court.

Cursearsme &rbehs sMhSl, sarayamLw apssneEht Gsmfalear Wsed eumoranors

Qupbp .30 W sartaamLw sU8& sMiHsGs

QsThsgiedlLmi.
(A) ombay
LU
(C) Rajkot
@ rrsrGam

Answer not known
edlenL Qzflueidamen

(E)

79

Camiliiged Smrids

(B) Delhi
QLéad

(D) Durban

L_ITLI 6T
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125. Which of the following about Kamaraj are true?
(1) He was arrested under Section 74 of Salt Act
(11) He was released on March 12, 1931

(111) He came to be closely associated with Rajaji during the election of
1926

emeu(meuameuhdled eTbg FnhmiseT srogmaT uHHlE sfluraraney
(1)  oeu 2ty L Gfley T4-ar S enag Qawiwiuil L.
(11) jeurm wmie 12, 1931-1b e Apsme Qi L.

(1) e 1926-0  yanh Csisalled grorblyLer Apméswors  @aanbs
QEwuL({H euUBSTT.

(A) @) only "~ (B) (i) and (iii)
(i) LG (ii) wpyo (i)

(CW0) and (i) (D) (i) and (iii)
(1) wpmid (11) (1) wpmd (111)

(E) Answer not known
sllenL Qs flwaicrena

126. At London Museum, Dr. B.R. Ambedkar’s statue was attached with the
statue of
arLer  SHEsTLAussHL LrsLT 9. r.onCussrier SHoe wrmenLw
fevooCurlh @QeaenssiiuL(heTerg).

(A) Vincent Churchill (B) Abraham Lincoln
lenGlger sméfle <L LITSHTD 60l mhig et

(CWKarl Marx (D) Lord Bentinck
STI6 LDTEE Quemgmig Gy

(E) Answer not known
ellen GgMwelerane
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127. British arrested Subash Chandra Bose on 24th Qctober 1924 A.D. and

128.

sent him to Jail.
8.9.1924-0  emh «sCLmuir wrsd 24-b Gsd, sumes spdy Gumey
< BSCawymed kT Cewwuuc @ SemEeTanes s,
SI@IULILLLC LTI,
(A) Tihar (B) Andhaman

Slammir S| BFLO M6
(C) Kolkatta ( andalay

Qardsssm e Gev

(E) Answer not known
- eflev QeMwellevenen

Match List I with List II and select the correct answer using the codes
given below the lists :

utgwed I erer uigwed II go Qurmsd, uiguosersss &6 o e
Asreuldmbg sflwrar elaLwlmars Asfey Gsws.

List I List II
U iguied | L iguied 11
(a) New India 1. Lala Lajpat Rai
Bluy, @bSwim QmEOT LIS Tl
(b) The People’s Friend 2. Bipin Chandra Pal
& Suiyéren L9 ety Qe sbdly Limed
(¢c) Vante Mataram 3. Dadabai Naoroji
UGy LIS srerumi AperCrme))
(d) Rast Goftar 4. A.O.Hume
grevl GamesliLmir .g@.adluyld

@ G @© @
Aav?® 4 1
B 3 1 4
€ 4 3 2
® 2 1 3

(E) Answer not known
flenL Gz flwelcene
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129. Match and choose the correct answer from the code given below :
Yereumeuareupenmls ummpss eflwurar el mws Csiea| Cauis.
(a) Bala Gangadhar Tilak 1. Voice of India

U6 SBRIGTST ST @nHwumeller @yed
(b) Dadabhai Naoroji 2. Madras Time
srgrumi QperGrre) Qi _grev eL_tbeiv
(¢) Macaulay 3. Kesari
Qw&srCo Caanl
(d) William Digby 4. Minute on Indian Education
efléedlwid 19519 - QBdwus sl @Nss @D ST

@ ® © @
@a 2 4 1
BY3 1 4
@ " 3 s
™y 4 2 3

(E) Answer not known
clenL Qzflwaldene

= & DN W
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130. Match the List I with List II :

uc g Id 2 erareng uigwe I o Lar Qurmsss.

List I List II
U gwed I uiguied 11
(a) Puli Thevar 1. Siruvayal
yells Gseur Smieuwied
(b) Marudu Brothers 2. Dindigul
(/g FCHTSTTHET Slewr (D& 60
(c) Gopala Nayak 3. Anamalai
- Garure prussi <, EGTLOENE)
(d) Yadul Nayak 4. Nerkattumseval
. WGl Br&SsT QpHsr (HIb6lFeud

@ Gk @© @
@ 1 2 3
BWwI 1 2
(€ 2.2
0 . R

(E) Answer not known
ellen. QzMwellerena

B~ W W ok

131. At which district conference, ‘Justice Party’ was converted into
‘Dravidar Kazhagam’?

‘Bhss Aurang’  ‘Aoreli  spswors  aps  @QLSSHD  BLBS  OIBM gD

wrHHULILL &) ?

A Balem T
Caaud STEHF YLD

(C) Vellore (D) Kovai
Ceugyrr Carenau

(E) Answer not known
edlen Gsflwaidene
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132. Which of the following activities were associated with the Justice Party?
Epsaam_aupnier BHssSular 2 arewwirear Lanllaear g ?

(1) It gave representation to Dravidian Communities in the public
services

Qurguinaflgeiidr SrmellL wEsEREGEL WrHPldsgeund QerBliug.
(1i1) The Government took over the power of appointing District Munsifs
wreul L BHudsemer Hlulsgn Gurpiiieou SipemsCn ghnsCsmemg.
(111) Poramboke lands were not allotted to the people
UpWbCUTES Hlomsemar &S (@54 TENEEA0) Gewmoed @G5S

(A) (1) and (i11) are correct (B) (11) and (111) are correct
D) wiPb (111) sNwrearg (1) vl En (111) sNwurearg
(CW” (1) and (i1) are correct (D) (1) and (ii1) are not correct
(1) wrEw (1) sNwrarg @) wrEw (il) seuprerg

(E) Answer not known
sllenL Asflweileens
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133. During the Quit India Movement in Tamil Districts :

gD wreul Lisefld QeudrarariCar GeualCum @usssslear Gurg

(1) The workers and common people participated in the movement
Qsmflereriser wHmb Quigwésdr @bs QuUEssHD sbgE DeT@TLai.

(11) In Madras, the women observed Hartals
Qgerenan psife, Cuamser QurgGaime Hmssnd Celisar.

(iii) The workers of Buckingham and Carnatic mill involved in the strike
usHmanmbd wHOL sTETLET e  Qsmieraisdr Gouame Hmssssle
FF (D LI L_L_@OTIT.

'(iv) The Madras port trust, Madras corporation workers participated in
the strike . _ .
Qsarener g@DWPs LaTumeriaer WwHmD CQeameer WOIBSIL  LewwumeTise
Ceuanav HlmSsssled FHILUL LTI

(A) (@) 1s correct (B) (1) and (i1) are correct
(1) v @b & 1) wHmib (11) wL b &

(C) (), (1) and (111) are correct DY), (i), (111) and (iv) are correct
@), (i) whmd (i) wrEb & @), (i), (iii) wpmb (1v) &

(E) Answer not known
ellenL Qg flwelilcbena
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134. Assertion [A] : Extremism arose along with the Swadeshi Movement
in Tamil Nadu.

audluymssd [A] 1 &Csfl QusssgLar sBlpssdd Selraunspb sme gréEdwus

Reason [R] : The leaders of the Swadeshi Movement became .
Leaders of the People, whose speeches and writings
aroused the masses.

sryewrd [R] : &Cs8 QUEs SDOEUTHET ESET S@meUTsemTs T,
Qaursafler CUssD eT(PSFID WESMET eT(PFHYDF QFuISg).

(A) [A]is true but [R] 1s false
[A] #ft; aparre> [R] soup

(B)\/goth [A] and [R] are true; and [R] is the correct explanation of [A]
[A] wpmid [R] &f; womib [R], [A] psrer eflwunear elatésid

(C) Both [A] and [R] are true; but [R] is not the correct explanation
of [A]

[A] wpmbd [R] efl; eparmed [R], [A] elpsrer sflurer eletssid e
(D) [A]is false, [R] is true
[A] saum [A] &

(E) Answer not known
aflen Gz flwaidane
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135. Match the following Editors to their Magazines :

Spsar_eupmier A Nwrsmer euisafler QsnsEsLar QUTHESS :

()
(b)
(©)
(d)

(A)
(B)
(

(D)
(E)

Editors
< S flwi

Thiru. Kalyanasundharanar

Slm.ef.5.
Bharathiyar

urgSlwm
Bharathidasan
unydsnae

Na. Parthasarathy
BT, UMf&ssmys

@ b @© @

4 B 1
2 3 il
2 3 4
4 3 2
Answer not known

den Qsflwaldeme

H M D

87

Magazines

Qs

Deepam

Suib
Desabakthan
Caeussen
Vijaya

eflsguim

Kuyil

Gl
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136. Thirukkural says that it is a weapon that destroys the strength of the
King’s army; which is it?
eTarelangl LianLcualleneni HGEGHD Ush ergibleuars Sme@Ener sndng) ?
(A)Azringency and Punishment
&(H EHLFTEEID FERTL nETL|D
(B) Harshly speaking and Tyranny
&b Erdemaid GarhnGsrem duyb
(C) Anger and Tax of the Subject
farapd SHenpiGummenLd
(D) None of the above

Cuhsramib eTaneuUd 2606

(E) Answer not known
elenL Qzflweldwane

137. Which association later became justice party?
orbg el Werert BHassl Awrs wrhluig ?

(A) Madras Dravidian association

Qi grev yreflL grisw (Qwigrey Hyreler GCardCuiger)

(B) Madras united league
QuL_gmev hrdmanbs gl Lenll (Qulgrey yaerei 65&)

(C) Non-Brahmin movement
GyrwerT SjoorsrT @uissd (Brer-Armsler wpeublinebri)

)WSouth Indian liberal federation
Qsenafpdlu sryreteuns sl Lepwliy (Feys @ermgwer aluged G Greer)

(E) Answer not known
e Qs flwalerene
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188, kaalam karuthi veruppil
venduba vetpach cholal”

According to the above Thirukkural, what is the essential deed on action
that one should train to imbibe?

(13

sreb sms CeumiGe

Gouar(hiu Goulug Qameve”

Cupsranib  @pefled  eraupery flbg  Ceumes Qeuw  Ceaar@b  erarm
Sl(meueTemeum samSlmm?

(A)/Gauge (B) Taking
NI GLenplibg)

(C) Maintain (D) Avoid
QummerdBs) : afilen e Bl b

(E) Answer not known
ellen. Qzflweildena
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139. Match the following books with its author :
Brésamer eubmler < flwisEser QuTHsSEis

Book Author
R < Sflwi
(a) Parthiban Kanavu 1. Suradha
umisSlLien sere] SIS
(b) Tamizh Solai 2. Tamizh oli
slpg Careney SOD earfl
(¢c) Thenmazhai 3. Kalki
Gsamoamip B

(d) Vazhippayanam 4. Thiru. Kalyahasundharanar
culILWERTLD h Sm.el.5

(@ (B (© (@
A 2 3 4
B3 4 1
© 4 2 1
M 1 4 2

(E) Answer not known
elenL Qzflwueildeane

W W N
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140. The Self-Respect Movement represented, the Dravidian reaction to
liberate the society, from which evil practice?
ahs S UWES aupssnsalmhgl, Fpssms dpeluugpars SrrelLisar
suLNUT®ds Qusssms peraflaaiuBsderi?
(A) Religious customs, practices and conventions
Lbg FLBIGEET, SLUTSMURISET WHDIb LI &eT
(B)\/ﬁeligious customs, practices and caste system
G EF.I_I'EJ@SSGT, s s mwukigeT LHDID FTHl eI 6T
(C) Religious conventions and caste system
DG WOJL&ET HMID Tl eI sar

(D) Religious customs, practices and superstitions
10§ FLBIGSET, FbATSTWRISEHE LHMID ApL HbIGGmaaseT

(E) Answer not known
eflen QgMwelrane

91 GENERAL STUDIES 20.4.2023
[Turn over



141. Which of the following statements about Thillaiyadi Valliammai are
correct?
Soamewmyg euareflwbenn uHdl sllwrer saHeons smis.

(1) She participated in the protest against the policy of Apartheid in
South Africa at the age of 16

Qgenr < UuQfssreld Qe urguTliyhE edrms satg 16 ewded
uBCEHSSeuT

(1) She worked with Gandhi in his early years
srHSCUTH Y roustasse Ceuma Celige
(111) She died during the anti-apartheid agitation
Qe um@Gurligh@ erdlrms BLbs CuryrlLsdCatw Gnpg Gureareui

(A) (1) is correct (B)* (1), (11) and (iii) are correct
(1) ererugy &l (1), (i1) whHmyw (1il) &f

(C) (1) and (i1) are only correct (D) (11) and (ii1) are only correct
(1) wHmb (11) wLHw &M (11) whHmib (111) wi b &

(E) Answer not known
aflen Gz flweidena

142. Which of the following was organised to educate by the Madras
Mahajana Sabha in 18847

1884-1b <ar® Sloeutiure Quigmed wanmmer Fum, SpssETLeundled s
sHULLSHETE 2 (HEUTSSLILIL L &) ?

(A) Social Education (B) Economic Education

Feps O L (HeugshHsns QummeTTgTré Seell HsL (heushsns
(C)\Aolitical Education (D) Cultural Education

Srflwe so6ll sl (heushHsrs sOTESTTS HO6ll s (HeushHans

(E) Answer not known
edlenL Qzflwaleane
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143. The following is not a reason for organising the Vaikkom Satyagraha
Shssranbd Qe ggib massb ssHUTArssHNHE smamoham.

(@)

(i1)

To restore the rights of the Ezhavas and other untouchables in
Kerala '

Cagammeiler @mps mpeutsd wHmbd @7 SarLsssTCsTT o MNapsamer
B QL (pH&s

In Kerala the Ezhalavas and other untouchables were forbidden
worshiping in temples

Gayermailed 2 eer FrpeUTEET WHMILD Qer S gzamCsi CarallgusEer Gada
DS GSLILIL eSlbene

(111) In Kerala the Ezhalavas and other untouchables were not allowed to

enter into the public streets i .
Cayermalled o 6mer mpeuiser whmb @sr SarssstComt Qurg GLmisalo
SDILSESTEDS HTIG S8

'(iv) In Kerala the British Government Banned the Kerala Congress

(&)
(©

(E)

Y msCawrse Carert sridymeay swL Aslisms sy s

(1) is correct (B) (1) and (1) are correct

(1) wrEn & (1) wpmp (1) &

(1), (i1), and (iii) are correct (D) @), (1), (i) and (iv) are correct
(1), (@1) wHmo (1ii) & 1), (1), (1) whHyd (v) &M

Answer not known
ellen Gz flweldena

THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
THE EXPERT COMMITTEE FOR FINAL DECISION

@ &5CHE6Tal Lo milh el emL @).mIE

7 (L gedl HEMos

61 6V6VI BT (L0 6I60T (LDEDT 66L& G LILIL D GT6ITS].
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144. Valluvar rightly compares those saints who cannot control the mind and
enter into actions not suitable to their saintliness says the following :

sau GalLid yarhOsmar®, warsms SLSGD euslawulldemod, seussnEL
Hoburer Sjeusdsupsmars deliub wsCeauLgrisafer Cawama cueT@EheuT

GTETD 2 GUELGETTE elleT&@GE M. @)&anDmled
(1) Puliyin thol porththu Meithatru
HedlullenCsmed Cumisg Guuwibshm
(2) Puthar Marainthu Vaettuvan Pul Simil Thatru
LsT wenpbg Ceul(Hleusr Ler SWlps sHm
(A) Comparison (1) alone is correct
2 auanio (1) b Hid &M
(B) Comparisons (1) and (2) are incorrect
2 auanwser (1) wopmbd (2) dw QramEid Seumy
(C) Comparison (2) alone is correct
2 auenwo (2) wi @G &
(DWomparisons (1) and (2) are correct
2 auanwaer (1) wHmbd (2) wdwu QrarhHn &

(E) Answer not known
clenL Qg flualerene
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145. Idea denoted in the following Kural is

Aakaaru Alavittai Thaayinung Ketillai

Pokaaru Akalaak Katai.

spésrapid Sms@ner Geuefluu@sgnd Absmarawu Caira

&M Sfereill L smulayd Caigranen

Curasrm igors SHenL

(A) The Kural denotes how bureaucrats should treat the people
Qs@paile odsrilser Qurgssellibd erliig BLBgCsrarer Couam@ib
T BearLgeng Ldleurdlujdrers)

(B) This Kural propounds that our Goal should be big in life
BéEpeile aurpsmsled @ass, Quiists @mss Ceuam®b eremm Sisamen
2 GTerng

(C) This Kural brings out the formation of Friendship

)}é;@maﬂ@ BLLCsTeT@Erge upHlu Absamern ugleundluyererg

(DY This Kural is deeply connected to the economic thoughts
Qé@pafler dummertsrrs Absmer @ HaHns

(E) Answer not known
el Qs flwelerana
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146. Statement [A] : Peelipey Saakaatum Achchirum Appentanjch
Chaala mikuththup peyin.
apmi[A] : “SelQus sTETHID SiEAMID SCILGTL G
gre @S0 Quuler”

Reason [R] :  The kural hints at stating that if a king considers his
enemies as small and weak and figh against them.
These small and considered weak will gather their
force together to become strong and powerful and
thus defeat him. Valiyarithal chapter carries this
kural.

sryab[R] ¢ Qs@ndr UNgCwrisd el eerm sameur. eualwbSe
- ey eSS  @E@nar  @LbCumidlng.  wenerer
wopeursemer  ereflueCrearn  LMSCOSTERTLID,  DeUTSHET
sl Lrss  Coibg  eupsmisCerwmarmd Her  euedepneni

@wriume.
(A) Statement [A], Reason [R] are correct, But the reason [R] is not a
correct explanation.

gapm, [A] srpewnd [R] ef eyamed sryeaurnd [R] eflwrer Qummer e

(B§/Statement [A], Reason [R] are correct but Reason [R] is a correct
explanation.

sapm[A], srramd [R] e sapm [A] -eyé@, smyewrd [Rleflwrer Qummer
G0
(C) Statemnent [A] Kural is incorrect; reason R is correct.
gpm [A] - @oer sauprang, sryerd [R] sflurerg
(D) Statement [A] Kural is correct; Reason [R] is incorrect.
gapm [A] - @per eflwrarg), sryeurd [R] seuprang

(E) Answer not known
clenL Qgflwalcvena
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147. Match:

QuUThSES :
(a) Iraththalum edhale polum I Avaranna Oppari Yankanda
dhil
Qrssan rsGe CGumgb Sleurener @uuml wrkiseaTLSe
(b) Irappan Irapprai Ellam 2. Irappir Karappar Iravanpin
enru
@ rliuer @rUUTenT eredaTLD Qrudp  syourt  @reueter
eTeaT )
(c) Makkale Polvar Kayavar 9. Karaththal Kanavilum
: Thetradhar Mattu
&sCer Cumeeul Swieui 1550  sael@id  Cspprsmi
. . . (b ] .
(d) Seerudai Selvar Siruthuli 4. Mari Vara Koornthu
Thalaiyai Thulaithu
EmerL& Qaceuir Amigefl il eUYs Saibsmanu gL ss)
@ ® @© @
A 3 4 1 2
( 3 2 1 4
©) 4 2 1 3
D) 4 3 il 2
(E) Answer not known
ellen Qg Mwueldena
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148. Match the following

QUTBHESIS
(a) Thaneer 1. Thoppil Mohammed Meeran
& GHoTaTIT Camiude wpswg Wiymer
(b) Karippu Manigal 2, Asoka Mithran
sy wewflser 2Cars WSS re
(¢ Kal Maram 3. Rajam Krishnan
&6 LoD TreLD &l (meigemTan
(d) Saiyvu Naarkaali 4. Thilagavathi
Fmiie] BrHsETel Saseud

@ ® © @
(A) 1 2 3 4
(B) 4 3 1 3
(M 3 4 1
(D) 3 1 2 4

(E) Answer not known
e Gsfluelerenaw

149. Who is praised (and celebrated) in the following quotation?
‘Vasana nadai Kaivandha Vallalar’
‘Vaidhalum Vazhuvindri Vaivare’
‘qusan Bl SeUHS GUETATETIT
‘@eusraib euelenm ameueurCy’
CTAT QUGTETMENT LSDBS! LIMg UIGUIT W ?

(A) Vallal Ramalingam Adigal (BY'Aarumuga Navalar

QUETETE @ TTOGIBISD g &HeT <SMI(PS BTG
(C) Paridhimar Kalaignar (D) U.V. Swamynadhar
uMSlom seane@Epr 2 .Cou. smblBIsT

(E) Answer not known
e Qg flwalerena
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150. Match the following.
Qur(psgs

(a)

(b)

()

(d)

Sarukkam
F(H&ELD
Ilambagam
@ebush
Padalam

LIL_6evLD

Kaandam

 STESTLLD

@ ® © @

(AV2 1 4

(B)
(©

3
1 2 3 !
4 3 2. 1

1

D) 3 2 4

(E)

Answer not known
eilenL. QzMweldene

99

Seevaga Sinthaamani
fous Spgmoent]

Bharatham

UmysL0
Silapadhikaram
feoviudsmyb -
Kambaramayanam
SLDUITTLO MU GTLD
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151. According to whom, the Harappan script is not alphabetical but mainly
pictographic in nature
‘apguiuer  arsESET siesr  afledsiuy e pamd  Asdrelgedwueg
SADHSETETS) GTETLIG WM(HEHL W Sabhmi?

(A) J.P.Joshi (B) S.R. Rao
Gg. 9. Cyradl GTEV. I ey
(CvR.S. Sharma (D) N.G. Majumdar
91T, GTE. &M eTer.gll. DggeLbG T

(E) Answer not known
ellenL QgMwelideane
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152. Choose the correct answer
Fflwmes eflenL_anwis Caira.

1.

The author of ‘Chivaga Chinthamani’ Thiruthakka Thevar belonged
to the Chozha dynasty and he chose to become a saint.

sausfipsmoafl Qupdlu  SmsssssCaeui Cemp < wrlemmi @mHs
SIDAIDLD LLEHTL_GuUIT.

Chivaga Chinthamani is the first Tamizh epic written in the form of
‘Virutham’.

SausspsmoaliGu Ahsssdd i@wis wWso sBlLU QuRsTIAULTELD.
Thiruthakka Thevan is also the author of book, “Nari Virutham”.
dmossasCoair  pllelimssnd  aagib: Hoowurmn  Hre QRETED LD

wimHdlwjerermir.
Chivaga Chinthamani consists of 12 ‘Kalambagam’ 2000 poems.

Sousflpgmoentl uatafllfam( sSebUsESmETLLD QrarLmlyd urLeseameTuib
2 LG

(A)/L 2 and 3 are right, 4 is wrong

(B)

©

D)

(E)

1, 2, 3 & 4 seum

1, 3 and 4 are right, 2 is wrong

1, 3, 4 &M 2 sau

1 and 2 are right, 3 and 4.are wrong
1,2 &M 3, 4 sauy

1 and 3 are right, 2 and 4 are wrong
1, 3 &M, 2, 4 seuy

Answer not known
aNenL_ Qg flweldena
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153. “Koorvael Kuvaieeya moiymbin
Thaervan paarithann parambu naadae”
in which poem do these lines appear?
“anmCoucd @Gameu@w GwmiibL9er
Csomeuent umflgenr Lpby préEL”

— GTETM LIML6) Silg @)L bClumib mred erg)?

(A) Pathitrupathu (B) Patinapaalai
uSlhmiiugg UL g GTLILITEnE)
| Puranaanooru (D) Aganaanooru

LiDBremi ASBIEID)
(E) Answer not known ' '
cllenL Qzflwueideana

154. The literature that reveals Kanchi had become a centre of Buddhist
learning is
L&swgsSlen shellepnwinrs srehdl @mhsams sr(pib @asdlwub ?

(A‘)A/Ianimegalai (B) Purananuru
wenflCgame LD BT

(C) Silappadikaram (D) Ahananuru
feouiuglsmrib SISBTET)

(E) Answer not known
e Qsflwaelcrena
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155. Which flower triggers the debate of accepting "Nedunelvaadai” as that of
belonging to “Agam” or “Puram”?

QB HBOTML ‘SUSLOT? LDLOT?’ 6TerTn alloums5EH&S STreuonan L 6T ?

(A) Palmyra Flower ( eem Flower
LIGTLDLY, Gauibyy

(C) Fig Flower (D) Ixora/Vetchi
253 Qeul &

(E) Answer not known
e Qsflwelerane

156. The Marathi fortnightly newspaper ‘Bahishkrit Bharat’ was started by
wrrsgluiled @rar® eumrgsdnE em won QauellurEnd Lsdfamswmar ‘Ladleisd ms
umrSens Qemmdweur
AV Ambedkar
2ACUGSTIT

(B) Mahatma Gandhi
DSTESOT S

(C) dJyotirao Phule
Cardlymeu Ce

(D) Kaivartas

ma;mr‘rg,rrm’u

(E) Answer not known
ellen Gz fweldena
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157. Which 1s the sub-plot that is not narrated in Silapathigaram?
fouiudlargsdle QerdoliuLrg dmerssms 6 ?

(A) Porkai Pandian Kathai (B)dadhirai Varalaru
QUTHES UTERTIGWET S ST eurerm)

(C) Nalangadi Poodha kadhai (D) Urvasi Saba Varalaru
BIETRIGTY. LSS &g seriieudl FTL UM

(E) Answer not known
e Gsflwueicens

158. In the Thamizh literary world, what is know as ‘Pariksha’?
WD Gasdwus Gald ufsasr ererug

(A) N. Muthusami’s Koothu-p-pattarai
B. sgiemdlumd Qsrimsiul L sadgliul L
(B)/(’}nani's drama troupe
@raflumed Qerkmsuul L BrLss @
(C) Amshan Kumar's 'Cinema Rasanai Kuzhu'
Sibawer @Gwryred Gsrimsiul L Aaflor jrameard @
(D) C.S. Chellappa’s ‘Ezhuthu Ilakkiya Kuzhu’

.&. Qedatiurerd ‘Qsrimsiiul L s QosHus @’

(E) Answer not known
e Qzflwelcrene
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159. Who was the archeologist, who first excavated the Pandya’s Pearl

market?
ahss CsroQummer < rmudwreri WP  LimeiTig Wits e e P&5IE SHMSM WIS
SRy ST ?
(A) Nagasamy (BMCaldwell
BrssmLol & (HGleud
(C) K.V.Raman (D) S. Paranavitana
Cs.6M. gmer eTenn. LiganTadlgmen

(E) Answer not known
- efler Gsfweleorane
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1160. Reason and Assertion type:

cudlymSsd LHNID STTERTD CUEMS:

Assertion [A]: —  Tamil rulers patronized Tamil and Tamil poets

1n their courts.

audymnsse [A]: —  slps gl durearisdr sOD WHHL SOD LeveuiEmer

SJeUTSET Dameuuiled <y greuailSsent.

Reason [R]: — The words mandram, Avai, Ambalam and

Mandru were used for Kings Courts.

smyewrd [R]: C —  wapb, S@es, Sbueb LHnb werny  Cumen

(D)

(B)

©)

(D)

(E)

QerHaseT <ire Semaiuild LweaTUHSSILLLF.

[A] is true but [R] is false '
[A] ereruig) o awrenn <armed [R] eremug seum
Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpnd [R] @oer @rar@n e arew whmbd [R] eaeaug [A] Wer
sflwurer ellerésid.
[A] is false, [R] is true
[A] ereirug) seum [R] ererug) o arenio

oth [A] and [R] are true but [R] is not the correct explanation of
[A]
[A] wpmpd [R] @wer @rarhbd o arewwurag <amd [R] erarug
[A]Wer sflwrer ederésb < de.

Answer not known
e Gsflwelerana
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161. What basic need does IAY fulfill?
TIAY, erevrar <iqtiuanL s Comamw Lisd Qelidps ?

(A) Water (B) Clothing
ST e T <L

(CTiousing (D) Food
10 2 aTeY

(E) Answer not known
adlenL Gsflwelldena

162. The major objective of Pradhan Mantri Krishi Sinzhayee Yojana
(PMKSY) is to achieve _ ' _
Gysw  wpdfl dfavy HAeareml S gder (PMKSY) Crréswb, eaos e
Cauetr(®d ?

(A)/‘More crop per drop”
geuleunp gefls@n oides uudir

(B) Agricultural credit available to farmers
Sarsg elleusmuls@psEh efleusmus &6
(C) Crop Insurance
uulirs srolE
(D) Crop Improvement
Ll euerrEd)/ (perGarhmid

(E) Answer not known
ellen Gz flwaldene
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163. Which of the following is/are correctly matched?

Epsaramuameuuied ergl/eTaney QUTHSSLLNG 2 6TeTg) ?

1. Minimum Wages Act — 1949
GDdDHSLLF 2erdlLIF FLL LD — 1949
2. National Textile Policy — 2000
GCasflu meyells Qsmerans — 2000
3.  Steel Authority of India Limited - 1968
QpHw erse@ Blmieuaid — 1968
4. Workmen’s Compensation Act T
Qgmemeriser @UiHE b = 10
(A) 1land?2 (B) 1and 3
1 womin 2 1 whmid 3
(C) 2and3 (D¥2 and 4
2 whHmib 3 2 wpmib 4

(E) Answer not known
ellen Qzflwaelcrana
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164. With reference to the government’s welfare schemes. Consider the
following statements:

STETRISSI 6T BOSEH L Ligsemers un, I_Cﬂei)'r@J@Lb NEMSHMaETS &6uasTLhISET.
1. Under the Antyodaya Anna Yojana, the food grains are available to

the poorest of the poor families at Rs. 2 per kg for wheat and Rs. 3
per kg for rice.

SipSCurswr oarer Curgernm UL sdear S, 2 avey srallumisd gmps
GO buRsed 2 drer gaps@ErsE Cangemw HCor @atnéE 2 mumyb, <fd
SCam genisE 3 epumuyb

2. Under the National Old Age pénsion scheme, the old and destitute
are provided Rs. 75 per month as Central. i
Csflw  wpdCurt  @uadus  HiLsder i wHACumT  wHmID
<5TUHCOTHES 5. 15 wsdu @uigpdlwions, QumburRTar LR SiFssa
aPBIGL AFTassEHsE Fmbhsons apnsliu@GSng.

Which of these statements are correct?

s smpnisaied) creney sflwmarg ?

(A) 1lonly (B) 2 only
1 wC @ 2 L (b
(C)wBoth 1 and 2 (D) Neither 1 nor 2
1 wpmid 2 Qe 1 womib 2 Qe

(E) Answer not known
allenL Qgflwueiideane
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165. The whole village was treated as a unit as far as payment of land
revenue is concerned. The system is
Bl eumeurls GOegsgieuansls QuUImSseuy W SITLPL @ HOSTEHSE
SMSIULLE. SABS (P

(A) Ryotwari (B) Zamindari
@ruseumfl souslergmifl

(C)/K/Iahalwari (D) All the above
wameemiil CuhH@hss emansgb

(E) Answer not known
el Gz flweldena

166. The rationalé for setting up of UPPAL Committee is
‘UPPAL’ @wees Siewliugh@s sryamd

(A) For accelerated rural electrification programme
paryg WEMOWILTSESH S Lsmss siflsiiubsgeus

(B) To resolve problems in cattle fodder
sTOBML Seuar SHésdamens Sidss

(C) Integrated pest management
REdamarhs LEH Goeremren

(D)/Survey of waste land
siMe Hlonigamer < uie| CFlioug

(E) Answer not known
edlen GsMwaelerane
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167.

168.

Who is the Chairman of fifteenth Finance Commission of India?
@Qpdureler uflenambsreug Hs @uelear semeeui wi?

(A)A\I.K. Singh (B) Dr.Y.V.Reddy
N.K. &in Dr. Y.V. Qg

(C) K.C. Neogy (D) K.C. Pant
K.C. AGurd K.C. ups

(E) Answer not known
ellen Qzfwellcvena

Which of the folloWing statements is incorrect?

. Gereumd eursSlwkiseied eTgy SeupTeg) ?

1. High birth rate and low death rate is known as population
explosion.

<ifls Wpuy eldlsnd LHmIb Gonbs Qnliy 18sh wesdr AsTas Qeug iy
TN SDPSSLILIHS DS

2. The ratio between working and non working population is
dependency ratio.

Caume Aesliveis@Ers@n Coume Qruwrseais@sen @ wlorar eldsn
g edllgwm@Ld

3. National Family Planning Programme was launched in 1948.

1948 b e Csflu GHbLUS sLEUUIL DS S Lb AsTLksiul Lg)

(A) 1 only (B) 1and 2

1 @ 1 wpmid 2
(C) 1land3 (D%and 3

1 whomw 3 2 oo 3

(E) Answer not known
sllen AsMwaldame
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169. The Book ‘Planning and the poor’ is written by

‘ArifiLed  wHpd  gpow  aEib  USSsD S QUTSHETITED
GT(PSLILIL L gl
(A) Shriman Narayanan (B) ML.N. Roy
LIPLOGIT BT IT WL GRT6bT GTLD. GTGHT. MUl
(C) Mahatma Gandhi (DWB.S. Minhas
WDSTEHOT ST 9. ere. L Giram meiv

(E) Answer not known
edlen Qs Mlwaldene
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170. Match the List I with List II and select the correct answer using the
codes given below :

utgwe I opmnd ulgwed II g Qurmsd &Cp Gar@ésuuc @erer sflwrer
e emw Czrea| Gews.

List I List II
L iquied 1 uitiquied 11

(a) Employment generation programme 1. Minimum needs

programme
CeuemeraumiiiL o (heumdss UL Lb @ophs uls Cgeameuser
SlLb
" (b) Social Assistance programme 2. Swarna Jayanti Shahari
Rozgar Yojana
Fps 2 56l% S b ) eveuient Glewirhs)
ganmilCrrevst GuirsarT
(¢) Human Development programme 3. National Family benefit
scheme
wefls Cobur (s b Cssllu  @HLU  BHerenid
Sl
@ (® (©

a2 1 3
B 1 3 2
©3 1 2
o 3 1

(E) Answer not known
clenL Qzflwaleene
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171. The 86t Amendment of the Constitution led to the inclusion of a new
that made free and compulsory education to all-
children of 6-14 years of age.

o7& weentoliber 86-6Ug) @@ggm, 6 —14 WD SDATEF (SLEMSS@HSE LD
@aeus LHMID sLLTWSE seall erampy LFw aldlwpanm awu Gorés
flIEESS-

(1) Article 21-A
Gifley 21-A

(i) Article 22-B

Qfley 22-B
(111) Article 23-C
Qfley 23-C
(A)\/(i) only (B) (i) and (iii) only
(1) wr @b (@) womb (111) wCEb
(C) (1) and (i1) only (D) (11) and (i11) only
(1) wHmbd (11) wLEL (11) wHmib (111) wLE

(E) Answer not known
cllenL Gsflwalcvena

172. The Gandhian model aims at the reform of as the most
1mportant sector in Economic Planning in India.

s wrflurarg @pdwureler Qumrmertsmy Hrdlieler Ws WeHwrer

SOOWITS & Erdmagieuams Crréswnrss Qsramberarg.
(A)\/Agriculture Sector (B) Industry Sector
elleusmug gienm Qzme genm
(C) Service Sector (D) IT Sector
uenils glenm sa6ue) Camlaml g genn

(E) Answer not known
slenL Qs flwelcrena
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LS.

of Constitution gives special status to Jammu and
Kashmir from 1954 to 2019.

Sifflueewiys L 0Gfey 1954 wso 2019 ey LD (LP
HDI sTEsSHEGE Anliy Bseve euprdug

(A) Article 230 (B ticle 370
Qfey 230 9fey 370

(C) Article 480 (D) Article 560
Qfley 480 ‘ Gfley 560

(E) Answer not known
adlenL Csflweldeame
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174. The major objective/s of the government to setup the Planning
Commission in India are
@pdwuraller  FLs  @Guees  A@LUUSHSTET  JFTRGSSHET  (WPSSw
Crrésmhisarmeler Wmg?
(1) To promote a rapid rise in the standard of Living of the people by
efficient use of the resources of the Country.

BTLIG6T  GUETERIGEETS SDenbWsl UWaTUHSSeUSET  ppld  b&serler
uUTRsMas 1556 allengeurar earCardpsmss ClsmerT(Hiou g6

(11) Helps to increase the production and offering opportunities to all for
employment in the service of the Country. '

2 pusdevw Sl flEs 2565, BTy oarsgl  uaiseflgn
SmarelHEH@Gn GCeuamed cUMIILIL|SEMET GULPMHIEHS6

(111) Do not have the responsibility of making assessment of all resources
of the Country.
BTLgel Separsg euethisaaryd wdHilh Geuw Ceuammgw GQurmilienus
Thsgs Camerer GeuanTiywdleranaw

(A) (@) only (B% and (if) only

(1) b @b (1) wHob (1) wLEWL
(C) (1) only (D) (1) and (111) only

(11) w @b (1) woHmbd (111) wLEW

(E) Answer not known
e Qshlwaelildena
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175.

176.

1s not the main objectives of special economic zone

fpuy CurmeTTsTy e e —— Grrésnd @jhe
(A) Generation of Addition Economic activity
(OSSO UTmETTSIT HL Gl EMSHET 2 (H6UTEESE
(B) Promotion of Export goods and services
ghmindl urmlser wpmb Crmeusdr QUmEsD
(C) Creation of employment opportunity
GeuaaeumiitiL 2 (heuréEse

(D)/I'{eduction of Income Inequal

QUBEUTL &oSgleUdETD GMDSS6D

(E) Answer not known
cllenL QgMweldeme

Identify the article in the Constitution which provides reservation in
services to the scheduled castes and scheduled tribes for not being
adequately represented. .
SMPSSULLL.  wHPD  upRGUar  WesEREGL  Curgwrer  ArdHdssieund
Qoormwau Srflueewide abs 2 1G9fe Csmauselld @)L ogsEl 1yamar
GULPEIG S DG

4) 331 (B) 332

(C) 334 (DyA435

(E) Answer not known
elen Qsflweldene
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177. 1) Tamil Nadu Slum Clearance Board set up to improve the lives of the
poor.

gewsefler curpsmsaw Gobu®ss sODBETH G@siugd wrhn eurfub

DD ESILILL G
(11) It is now known as Tamil Nadu Urban Habitat Development Board.

Qg sHCurg sBlPETH BsTym eumped  Guwurl@h eurflub  erermy
e T AMTRIGEAVES

(111) It provides housing for all in Urban areas.
B&TUDBIGET ) Djemarelme@&h el( cuph@GEHng.

Which of the above statement is/are true with regard to Tamil Nadu
Slum Clearance Board?
sBOILETH Guamsiugd wrhn eurflub Qgriurs Copamdlu hsmsseaile erg

(A)-_().only (Boiaianly
(1) b @b (11) L @Hb
©VG) and (i) only D) (i) and (i) only
(1) wHmyb (11) wLEL (11) wHmb (1i1) wr b

(E) Answer not known
adlenL Qgflwelcrena
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178. Assertion [A]:  Social movements have varied in scope.

gapm [A] : seps Quissnser eumiulQubemaseie Coupul k(médamar.

Reason [R]: Many movements are limited to Local Policies while

others have been international in their focus.

sryewd [R]: e  Quissmsdr o eEnt Qatdtans amelCalu  @)mbs)

(A)

(B)

(©

(D)

(E)

aumpdaner Cssowbd, wHnme sieuCss <aTedd SeuaTd
Qe &g Slemmer.
[A] is true, [R] is false
[A] sfl, perred [R] sl | |
Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] ‘wogid [R] @ram@w sfl, Cuaw [R] eerug [A]l dbsrer sflurar
AT&SSHLOMGLD.
[A] 1s false, [R] is true
[A] seum, <yarmed [R] &l
oth [A] and [R] are true but [R] is not the correct explanation of
[A]
[A] womo [R] @ran@o sf, amd [R] eewg [A] ofpe sfwurer

ETHEHLOGED.

Answer not known
eflenL Qs flweldbene
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179. Choose the right answer:

gflurer eflenLamws Caitey Ceiis

Total fertility rate measures
QrEss &(HeyHSe ML D eTelHID WPEDSET.

(A) The number of live births occurring during the year per thousand
population
1000 wssTUsTMsEE @ euBLsded Blawbd Corg KGOpliyseier
eTaTenilGens

(B) The total number of deaths per year per thousand population ‘
BT wEsET CQsrenssE @@ u@mBLsHe Hawbd Qurss @nuyseer
eraiTantl&en s

(C) The number of women of reproductive age dying due to maternal

causes per one lakh live births
@@ olsd Wpuyseie smieufl srravmsemrd @DE@EL @QeiQumsEs
gL Querseen ereranisams '

(D)\/The number of children born to women during her entire

reproductive period
Quamsefler @ Qedumsss srsdad KGobs Gwbossear

CTEisTEwN S en

(E) Answer not known
sllenL Qzflwelerena
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180. Which of the following is incorrectly paired?

SeTeupeuareupled 678l Heups @) emenésIILL (HeTerg) 2

I. TNSWAN - Tamil Nadu State Wide Area Network
TNSWAN sBIEBETH wrble QuELUFLIL eumOWELLIL
II. TNDRC —  Tamil Nadu Disaster Reconstruction Centre
TNDRC sBlpETEH CufLi Lo&renbliy ewwib |
III. TNeGA —  Tamil Nadu e-Governance Agency
TNeGA g@@pn@ L&CM—%@G&LD.@ESGDLD
IV. TNSDC —  Tamil Nadu State Disaster Centre
TNSDC sOEBETH wrhle CuALT ewwid
(A) TandII (B) II and IIT
I womw IT IT wogw IIT
(CVTI and TV D) III and IV
IT wpgw IV III womio IV

(E) Answer not known
clenL QgMwueldeame
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181. Who is not the member of recommending committee in the appointment
of Chief Information Commissioner by the President of India?

Gemeupd o puleriselley wrT @GQurs soeoerrd HuEsHIUGD SO
S50 gamemwi uselssrar uflbgianys @eld @b CupTseuT?

(A) Prime Minister of India
@St Grswi
(B) Leader of opposition in the Lok Sabha
&SN THTHSL S Senaveurm
(C)\/ﬁﬁef Justice of India
- @pslug swamw fEud
(D) Union Cabinet Ministers nominated by the Prime Minister

Gysorred Hublssiuc L wsSw SIGOLDFFIT

(E) Answer not known
cllenL Gghlwalerenaw

182. Choose the right matches.
Epsar_cupmier sflwurst Qurpssiul Hararass Csib6sH&s.

1. TANCEM - 1976

2. SIPCOT — 1965

3. TANSI - 1970

4. TIIC — 1949

(A) 1 and 2 are correct (B)*1 and 4 are correct
1 woHmIbd 2 &l 1 wHomb 4 &l

(C) 2 and 3 are correct (D) 3 and 4 are correct
2 HmIbd 3 &l 3 HmIbd 4 &l

(E) Answer not known
clewL Qgflwalerena
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183. How many features of the immunization programme issued by the
Central Government of India on 19t March 2020 are being actively
followed by the Government of Tamil Nadu?

Qpdureiley wHHwL eirehIsSFTD 19 WMTEF 2020 ey Qeueflll L, erssaan
Crmus sOUY eulflaparpsamers slps <ire Selywrsts Gerup NGEIES

A) 6 B
6 9
(C) 10 D) 12
10 12

(E) Answer not known
e Qsflwelerene
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184. A welfare state can be characterized in terms of the following functions:

D&&ET  Beer ed@mbyD rasl  beteumbd Geudur@seier gL uld
NS LILI(HSSHITLD:

1. It guarantees individuals and families a minimum income
irrespective of the market value of their work or property.
saflpUs@E@p&EL  GHLURSERSEL, Ileuisaiar Ceumeawub Csrssdler
gheng WHUmULD QUTBHLUOSSTLD, GMODHSULEF UHLIASIDEG AT
2 SFTEUMSLD GULPMIGS D).

2. It narrows the extent of insecurity by enabling individuals and

- families to meet certain social contingencies.

saflpUEER&sEL  GHLURSERSGD o  gups QLiurthsmeas &bdlés
2 F6GUSEN P 2T&H ungsrlllerenwuller SjeTanels G®mnEHng.

3. It ensures that all citizens without distinctions of status or class are
offered the best available social services.

Feps Bgevg, FTHUL umGurhsaierd S@aEF (GGLESEHEGD FDbHS
sepsE Grameusamar UPEIGeIMS 3iTe 2 mifl Celudng).

Which of the above statements is/are correct?
Cupsar_ shmsaid ergl/ereney Filwmeng ?

(A) TandlII (B) I and III
I whmd 1T I womd IIT
©WT 11 and 111 (D) None of the above
' L II wpmib 111 Cuhsa@Teuhmier ereneuwiléranea

(E) Answer not known
e Qsflwaelerena
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185.

186.

Article that deals with prohibition of trafficking in human beings and
forced labour.

weilgs sLEs@mDS sl Galeug bbb, sl Lmw 2 @puklhEs saeariu@emss
soLGsleug updlyb eleurdés@n Sirdlud s 9fey.

(A) Article 47 B) Article 17
Gy 47 Gfley 17

(C) Article 16 DY Krticle 23
Qfley 16 Dfley 23

(E) Answer not known
e Agflweldame

Who referred the Safvodaya Movement Philosophy as ‘a fuller and richer
concept of peoples democracy than any we have yet known’?

‘B @Qgeumr Sifbsosedl  WwEser QEBTUSSS e  Blevpeurar o wireurer
&hSgIGsmes Cerar el srGaurswur Qusssder Camlur@haer ererm sadweui

(A) Vinoba (B) J.P. Narayan
N Germum Gen. 9. BrymwietT
()W Anima Bose (D) Sankarro Deo
Saflwr Gume smsCrm g Guim

(E) Answer not known
sllenL Qgfweldame
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187. Which one of the statement is not true of “Beti Bachao Beti Padhao”. The
objectives of the schemes are?

SpsarL “Quar @phowst urgeriy wHmb soed” (Cuily uésTGeur Guiig
usrGeum) ererm Fddled TFH o amawwdw:  FULsHar  CrrismsarTarane

Spaupomy
(1) Prevention of gender biased, sex selective elimination.
@ &miy urdlard wHnb urdars Csfe) Gitieous 505560
(11) Ensuring survival of the girl child.
Quesr Gpbeamsuler eumpaes 2 Ml Ceiiged
. (11) Ensuring education and participation of the girl child.
Quesr GBmssafler soedl wHmID uksalliemu 2 nd Qeuged

(iv) To provide only self — employment to women.
QUGS EHS @ FUCSTOD cUPkIS < euenr C&uige

(A) (1) and (i1) only (B) (1), (11), (111) only
@) wHmib (11) LW (1), (11), (111) wL_@Hb
(C) (), (a11), (iv) only (DY(iv) only
(i1), (i11), (1v) wi_ @b (1v) wr @B

(E) Answer not known
aflen_ Gz flwaeldane
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188. scheme for prevention of trafficking and Rescue,

Rehabilitation and Reintegration of victims of trafficking and
commercial sexual exploitation.
Gphmgsmeanyb Cduarsmetyb sLSHUMSS SHESD, SLSSUILLL Uismar
BLOLESsD, sLssuul U urdlud Cdsmfldle FEUSSIULL QUIGT S (6 (&L
Yarfeumpa|  Cerhigsd, Barn  swpsrusCsm®  aurpaugshsrar  Gpae
2 (HUTEGSD AFweipens QeudupssieusHans o (Faurssiul L S ib

(A) Vatsalya (B) One stop centre
Vatsalya One stop centre

(C jjawala (D) Kishori Shakti Yojana
Ujjawala : - Kishori Shakti Yojana

(E) Answer not known
T dlen Asflweleame

189. Action may be taken against those involved in spreading misinformation
under any of the following laws.
SDEsTEnID ThsE FULSHGTLGS SUDTAT SSeud UFLLD Qsudseid FHUEeT
158 BLoUlgsamns T(H&S (PiguLb ?

(A) 1938 — Rule 41, 43, 44 (B) 1938 — Rule 45, 46, 48
1938 — @er ofld 41, 43, 44 1938 — @an cid) 45, 46, 48

(CV"1939 — Rule 41, 43, 44 (D) 1939 — Rule 45, 46, 48
1939 — @ern o9 41, 43, 44 1939 — @er afld) 45, 46, 48

(E) Answer not known
edlen Gz flweledrane
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190. Match correctly the Socio Economic indicators of Tamil Nadu and their
corresponding contribution as per 2011 census:
2011 wsseT Ograws samss@ubed sOppriger gFpslt  QUTEBETTSTTS
GO eLwb Seupdler ursaflti@uwnd sflwrst QurEmsseyb.

(a)

(b)

(©

(d)

(A)
(B)
(©)
(D)

(E)

Economic Indicators
QummertsTy GDIuIH

Decaded Growth rate 1.
ussTarT(H eueTidsl eflflgn

Sex ratio

(Female per 1000 males) . 2.
uredler ellélgwn

(<UD 24 6TE (655
TEsaman OlLIeRTSEET)

Child 0-6 years

(Female per 1000 males) 3.

Gwbms (0—6) < ar@sdr
(<BUATID 4 ETEHEHES; TESEMET
QLIGSTSEET)

Urban Population

Percentage 4.

B&TLILD &S QsTans F56i50

(@ ® (© (@

3 2 1 4
4 1 3 2
vi 3 2 1
4 2 3 1
Answer not known

clleL Qsflwaelldvene
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Tamil Nadu (2011 Census)
sWOppETE (2011 sams@s@®y)
48.40

48.40

946

946

996

996

15.61
15.61



191. Who is the author of the book “Social movements in India”?
“@rdwureiler seps Quissnser erarn Hredler @pdfwm wri?

(A) T.K. OOman (BYMS.A. Rao
T.K. guwen M.S.A. gmeu
(C) ML.N. Srinivas (D) Ram Ahuja
M.N. uSHleumrev JITLD HGT
(E) Answer not known

ellen. Gzflweldene
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192. Find the correct and/incorrect matches among the following:
Epssareupled ergl sflwrs whmibd / seuprsts QummBbSlwererg ?
(1) Article 338 —1: National Commission for Scheduled Tribes.
eilS 338-1Aflay 1: ULPMBI&lq &5 @h&sTar Caslu slauer eamngse

(2) Article 333: Representation of the people of the Anglo-Indian
Community in the Legislative Assemblies of the
States.
gl 333 : prfleo it Cureeuseild <y mdGar-@ndlwen
‘ w&&ERssTar UrHBldsgieud eupnkiEso
(3) Article 331: National Commission for Scheduled Castes.
cildl 331 : ulgwaler wssErssTar Cosliu SUlagem MSSO
(4) Article 330: Reservation of seats for scheduled castes and
scheduled tribes in Lok Sabha.
eflgl 330 : UPBIGLE @t  bHnID ULGUder  ESEHESTET
wésaTamels CsTEdsalld salstsrEdsdr @HsE0
Qewiged
(A) 1,2, 3,4 are correct

(C) 2, 3, 4 are correct but 1 1s incorrect
2, 3, 4 A, gyemédl wiHbd seumy

(D) 1, 3, 4 are correct but 2 is incorrect
1, 3, 4 &M, gyaméd 2 I Hb seum

(E) Answer not known
eflen Gz flwaldane
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193. Article 15(4) clearly speaks about
sl 0ffley 16(4) erensts updls Oselleurss samdng 2
(A)/Socially and educationally backward
gops LHMID Ol FHwurs Wargmdw wasdr
(B) Inadequate representation in backward a class services
Yergrdlw wasafler @igqinewrer uaflsmart LHNE spdDg).
(C) Free and compulsory education

@oeug HMID &L LTwE So6d

(D) Weather sections of the people and includes the expression the SCs
and STs

Ll igwelard, waaaiT) Garb wHNID uIG®DHS s o amieseT.

(E) Answer not known
ellen Gsflwsllevena
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194. Which of the following is true about the Abolition of Bonded Labour
System?
Yeeumeuareupiled CQamsgiqand @ILILpans S Ll eTaneu > _GHTELOWITETENGEL
SIDOOG| TGl 2 GETENLOWITETS) ?

(1) Persons kept as bonded labour are released and rehabilitated by
providing financial assistance of Rs. 20,000.

QarssqmbEeTTs @eusslul L pufsdr el(Eelssuul(h  brelwuwbrs

eh. 20,000/~ HE 2 gal auprdl wyeuMbey SelésiLRSDTTSET.

(1) House site pattas, drinking water and Bank loan assistance are
provided to them. ' '
Qaeurs@rs@ eI eer ULLT, @GSgbi cugdl womib eukifsser 2 g6

aupmsLLGHE DG
(A) (@) only (B)‘/(ii) only
(1) b &M (11) o P &M
(C) (1) and (1) true (D) (1) and (11) false
@) wppo (1) & @) whmo (1) seuy

(E) Answer not known
elen GQsflueidane
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195. (@

(i)

In April 2008, Tamil Nadu Transgender Welfare Board was formed
as the nodal body to address the social protection needs of
Transgender.

Gured 2008 @6 sULETH SmbrimastT o eurub S\5h®SsEssEsTar
gepsuungsmiys Cemeusmer Mleovmey GCslcusHarar wpsEL  eDLILNGE
2 (HUMESLILL L G).

The Board addresses the Social Protection needs of Transgender
people such as income assistance, housing, education, employment
and health care.
el 2g6f, oL@ esd, so6l, Coumaaumily bLHYD &STSTIL
urgisriy Gurearn Csmeusamer Hprhamasaien sipsL urgisridn@ eurflwin
Blenmey Ceuidng).

(1) It is a plkatform to bring various section of the society and private

sectors together to discuss what can be done to address the basic
needs of transgender community.

sophmssefler wgliiumLs Csmasmer Hlepe; Qe ererar Qeiwed
areny elleundlss sepssdlar udGom WNelaramry, saflwrt gepularayub
ETHle@aTSEb G SeTd E)5.

Which of the above statements is/are true with regard to Transgender
Welfare Board?

B@ESET po eurflwbd Qgriiurs Cuhsar shmiseld 6rg o a@renw ?
Wl 3 & U ul il

(A)

(©)

(E)

(i) only (B% (ii) only

(1) wrEWb (1), (11) wr_@Hb
@), (iii) only (D) (i), (iii) only
@), (iii) wr Gw (i1), (iii) v @w

Answer not known
MlepL Qg fluelerene
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196. Match the following judgement with its pairs:

A class of citizens and if the caste as a whole is socially and
educationally backward, reservation can be made in favour of such a
caste on the ground that it is a socially and educationally backward class
of citizens within the meaning of Art.15(4).

EpssanL Srileearn Qumrpsswrar @aennuLem Cair

“endl  peugiwrss  Feps LHDID  soedl  Hlewselled  GHuLlig@mBsTeD,
srflueanliys slLgdar 15(4) WMefer Qummer cupbl@h@Lul B iFerd saoel
wHNID Feps Hlevauld WHuL Hererdsears smS <sHE QL eH&EEH Geiwemd’

(A) Periya Karuppan Vs State of Tamilnadu
Quflw s@muueT Vs sBILETH s

(B) M.R. Balaji Vs State of Mysore
M.R. urers) Vs ewgit <iys

(CWP. Rajendran Vs State of Tamilnadu
P. @urCapdrern Vs slpmrh <irs

(D) U.S.V. Balram Vs State of Andhra Pradesh
U.S.V. uegmpd Vs <ypdlp G5Gss <irs

(E) Answer not known
edlenL Ggmweildena
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197. Which of the following are/is true with reference to the impact of social

198.

movement?

SpeaTL 58 @Qusss sréssdeorar Qeuefluiur@seile erg sAuramaey 2

(1) Social movements attempts to negotiate with State, Market and
Civil Society.
FPE QUSHRIGET 28, gbeng WLHNL Curg WESEFLG FwFsd Geriw
pwhHF & e e

(1) The outcome of the movement could be seen interms of social,
political and economic change but not structural

Quéssdlen eleataisamer sl Lmbly FfEHurs umiGsTOE® Feps, Srflwed
wHmIb Qummertsry wrhoiseler ppoTss STamamb

(i11) The State has the power to formulate new policies or modify existing
public policy as per the demands of the social movements.
seps Qussnseier CerflsassersCapu W Qsmarassamer o heurdsGeur
Sevag et Gungs Qardrensamw wrHpCeur ATEES ASSTTD 2 deng.

(A) @) only , (B) (1) and (ii) only

(1) wL @b (1) wHmid (11) b EW
(©VR) and (iii) only (D) (i) and (iii) only

(D) wHmbd (11) v (11) wHmib (1il) i Gd

(E) Answer not known
eflen Qzfweildena

Preliminary stage in the formation of social movement is related to

FUPE QWSS 2 (heuTsaSSl6n <y Tbus SU LD — Qe wg

(A)  Crucial Stage (B)Vﬁnrest Stage
wp&slunrer Hlanew <ewgluderano Hlena
(C) Final Stage (D) On Going Stage
@mnid Hlene BLbgI& Cameimg (hé@h Hlae

- (E) Answer not known

lan Gzsflwaeldene
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199. Match correctly the States with their achievement of sustainable

development goal.

wrilokisamer seupdler Biass eariéfls @NsCararsaiar srsmaraws Csmem(h

QuTBESIS

(a) Tamil Nadu
s Bl

(b) Chattisgarh
FEEEVGET

(c) Kerala
Cayerm

(d) Odisha
RUQ.EM

ayi oo by = ie)) o Ad)
(AV3 e G 13
®1 2 3 4
Cr——a— g
@ 2 Agnilas

(E) Answer not known
clenL Qzflwalerena
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Gender equality
umellar FLoggieubd

Zero hunger

el udl/ulgeiluldor Hlane
No poverty

cumienLoudleiTento

Climate Action
LBeublene BL6llq&Hens



200. Choose the correct answer:

sflurer eflanawws Csirey Qelis

Assertion [A]: Development increases the quality of life.
gapm [Al: Cuobur® arpsmss srsos 2 WisgIHnsg)
Reason [R]: People will have higher income, better education,

better health and nutrition, less poverty.
smyewrd [R]: &s6T Siglsorar eumeunl, dpss saed, o L6 B HmIb
2L EESG), GODHS eumiend CumieumrseT
(A Both [A] and [R] are true and [R] explains [A]
[A] womb [R] @rem@io silurarg wppid [R], [A] e eflers@dng
(B) Both [A] and [R] are true and [R] does not explain [A]
[A] wpmis [R] @rawr@iod sflwurerg [R], [A] eweu eQersseferanay

(C) [A]is correct and [R] is false
[A] eflureng wpmid [R] SEUDTETS)

(D) '[A] is false and [R] is true
[A] seuprarg womb [R] sflurerg

(E) Answer not known
e Qsflwelerene
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